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1. IlepeueHb KOMIeTeHIMH C YyKa3aHHeM 3TanmoB ux ¢(opMuUpoBaHUA B
npoijecce 0CBOeHUs1 00pa3oBaTe/IbHOI MPOrpaMMbI

KO]] H HAMMEHOBdHHE KOMIIEeTEeHIIUHN

Jrtanbl popMHpPOBaHUSA

OIlK-1 1. PaboTa Ha yueOHBIX 3aHATHIX
criocobeH UCIob30BaTh MOHATUHHBIN anmapat ¢punocoduy, 2. CamocTosiTenbHast paborta
TeopeTUYeCKOM U MPUKJIaJHOM TMHIBUCTHKH, T1€PeBOZOBe/eHus],

JIMHTBOJU/IAKTUKYU U TEOPUH MEKKYJIbTYPHOM KOMMYHHKALU JIJIsT
pereHust TpoeCCUOHATbHBIX 3a/1au

OIlK 3 1. PaboTa Ha yueOHBIX 3aHATUAX
BJIa/Ie€T CUCTEMOW JIMHIBUCTHUUECKUX 3HaHWM, BKIOuaromed B cebs | 2. CamocTosiTesnbHas paboTta
3HaHHWEe OCHOBHBIX (DOHETUYECKUX, JIEKCUYeCKHX, TpPaMMaTUYeCKHX,
c10B0o0Opa30oBaTebHbIX SIBJIEHUN u 3aKOHOMEPHOCTeH
(YHKIIMOHUPOBaHWs ~ W3y4aeMOTO  WMHOCTPAHHOTO  sI3bIKa,  €ro
(OYHKIIMOHAMBHBIX Pa3HOBUHOCTEH
OIIK 7 1. PaboTa Ha y4eOHBIX 3aHATHSIX
criocobeH CBOOOJHO BBIp@KaTb CBOM MBIC/IH, a[IeKBAaTHO HCIIO/b3YSI 2. CamocTosiTenbHast paboTta
pa3Ho0Opa3Hble SI3bIKOBLIE CPEACTBA C LIe/bI0 BbIJE/IEHUs] PeleBaHTHOM
nHbopMaIuu
OIIK 13 1. PaboTa Ha yueOHBIX 3aHATHIX
ciocobeH  paboTaTth C  2/EKTPOHHBIMH ~ C/lOBapssMu U Apyrumu | 2. CamocrosTesnbHasi paborta
3/IEKTPOHHBIMH PeCypCaMH [jisi pellleHds] JTUHMBHUCTHUECKHX 3aJau
OIIK 16 1. PaboTa Ha yueOHBIX 3aHATHIX
B/IafieeT CTaHJApTHbIMM MeTOJMKaMM IIOMCKa, aHaiu3a U obpabotku | 2. CamocrosTenbHas pabora
MaTrepuaaa MCC/ie/OBaHUs
OIIK 17 1. Pabora Ha yueOHbIX 3aHATHSAX
criocobeH oOlLleHMBaTh KauyeCTBO MHCC/Ie/joBaHUsI B CBoel mpesamerHoil | 2. CamocTrosTe/nbHas pabora
00/1aCTH, COOTHOCHTh HOBYIO MH(ODMALIMI0 C YyXXe HMeoIIeics,

JIOTUYHO ¥ TIOC/Ie[JOBaTelbHO TIPe/ICTaB/ISATh pe3y/IbTaThl COOCTBEHHOTO
WICCTIe[JOBaHUS
MK-27 1. PaboTa Ha yueOHBIX 3aHSATHIX
crocobeH OLIeHUTh KauyeCTBO HCC/Ie[OBaHUS B [JaHHOW mpeametHol | 2. CamocrosTesnbHasi paboTta

006/1aCcTH, COOTHECTH HOBYIO MH(MOPMAIIUIO C YKe UMEIOITeHCs], TOTUYHO U
TOC/Ie/[0BaTe/IbHO TPE/ICTABUTh Pe3YJ/IbTaThl COOCTBEHHOTO HUCC/Ie/[0BAHUS

2. OnucaHuve mnoKa3sarejielli M KpUTepHeB OLIeHUBAHUSI KOMIIeTEHIUM Ha
Pa3/IMYHbIX 3Tanax ux ¢GopMHUpoOBaHMs, ONMCAHME IIIKA/1 OLleHUBAHUA

OnenuB | YpoBeHb Jtan OmnucaHue noKa3saresei Kpurepun Illkana
aemble chopmupoBa | dpopMupoBaHus OLleHMBaHUsA | OLleHUBa
KoMIeTe | HHOCTH HHA
HIUH
OIK 1 | IMoporossiii 1. Pabora Ha | 3HAaeT U MOHMMaeT: Texyruui 41-60
yueOHbIX 3aHSATUSX | - TOHATUHHBIN armapar KOHTPOJIb! OasnioB
2. dunocodun, YCTHBIN 0MpocC
CamMocTosiTenbHa | /TMHIBOAMAAKTUKU U TeOPUU Ha 3aHATUAX;
s1 pabora MEXKY/IbTYPHOMR BbITIOJIHEHHE
KOMMYHHUKALH TeCTOBBIX
Ywmeer: 3a/laHUMN
- VICTI0/Ib30BaTh
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TTOHATUIHBIN arirapar
dunocodun,
JIMHIBOJUJAKTUKU U TeOpUu
MeXXKY/IbTYPHOR
KOMMYHHUKAaLH b6
pelLeHUs

HpOfl)eCCI/IOHEUILHBIX 3aa4

[MpoaBuHYTHIN

1. Pabora Ha
yueOHBIX 3aHATHUIX
2.
CamocTosiTenbHast
pabora

Biaageer (HaBbIKaM¥ W/ HIH
ONBITOM JIeATEILHOCTH):

- MeTo/IoIorrei
TIpYMeHeHUs]  TIOHATUHHOTO
armapara dbunocodun,
JIMHTBOAUJAKTUKU U TEOPUU
MeXKY/IbTYPHOIR
KOMMYHHUKaLU
peLieHUs

ripoeccroHaMBHBIX 3374

[Jist

Texyiuit
KOHTPO/JIb:
pedepartsl,
TIpe3eHTalvH,
HayuHbIe
JTOK/TaJibl.

61-100
0a/IoB

OIIK 3

[Toporo.biit

1. Pabora Ha
yueOHBIX 3aHATHSIX
2.
CamocrosTenbHas
pabora

3HaeT U HOHMMaeT:

- OCHOBHbBIe (hOHETHUECKHE,
JIeKCUYecKue,
rpamMmaruiecKue,
cioBo0Opa3oBaTe/bHbIE
sIBJIEHWS] ¥ 3aKOHOMEPHOCTH
(hyHKI[MOHUPOBaHUS
M3y4aeMOro UHOCTPAaHHOTO
A3bIKa, €T0
(YHKUMOHATBHBIX
Pa3HOBUHOCTeN

Ywmeert:

- IPUMEHSITD TIOTyYeHHbIe
3HaHUS O 3aKOHOMEPHOCTSIX
(YHKLMOHUPOBAHUS U
(YHKIIMOHATBHBIX
Pa3HOBUIHOCTSIX
M3y4aeMoro si3blKa [JJIst
pelleHust
nipodeccroHaNbHBIX 3a7iau

Texyiuit
KOHTPO/JIb:
YCTHBIN orpoc
Ha 3aHATHSIX;
BBITOJIHEHNE
TeCTOBbIX
3a/laHui

41-60
0a/IoB

[IpoaBUHYTHIN

1. Pabora Ha
yueOHBIX 3aHATHUSIX
2.
CamocrosTebHas
pabora

Biaageer (HaBblKaM¥ W/WIHA
OMbITOM JIeATe/1bHOCTH):

- CUCTeMOH
JIMHIBUCTUYECKMX 3HaHUH,
BK/IIOUAIOIIlel B cedst 3HaHUe
OCHOBHBIX (JOHETHUECKHX,
JIEKCUYECKHUX,
rpaMMaTH4ecKuX,
c/10B00Opa3oBaTe/ibHbIX
sIBJIEHUH U
3aKOHOMepHOCTelN
(yHKI[MOHUPOBaHUS
M3y4aeMOro WHOCTPaHHOTO
SI3bIKa, €T
(yHKI[MOHATBHBIX
pasHOBUHOCTEH

Texytuit
KOHTPO/Ib:
npe3eHTaLlN.

61-100
0a/I0B




OIIK 7 | IToporoBeiit 1. Pabora Ha | 3HaeT W MOHHMaeT: Texypi 41-60
yueOHBIX 3aHATUSX | - CHCTEMY Pa3HOOOpa3HbBIX KOHTPOJIb: 0asuioB
2. SI3bIKOBBIX CPEJCTB YCTHBII OMpoC
CamocTosiTe/IbHast | U3y4aeMoro si3blka Ha 3aHSTHSX
pabora Ymeer:
-cBOOO/IHO BbIpaXKaTh CBOU
MBIC/IH, 8[JeKBaTHO
WCII0/Tb3Y$ pa3HOOOpa3HbIe
SI3bIKOBbIE CPeZICTBA C L|eJIbI0
BblJle/IeHUsl pesleBaHTHOU
MHpOpMaLUn
IMpogsunyTteii | 1. Pabora  Ha | Baageer (HaBbikavu n/uan | Tekyuiumii 61-100
yueOHbIX 3aHSITUSX | ONBITOM JAeSTeIbHOCTH): KOHTPOJIb: 6annoB
2. - cucTeMOW pa3HOOOpa3HBIX | Mpe3eHTaruH
CamocTosiTesibHast | SI3bIKOBBIX CpeJiCcTB Y | U [OKIazbl
paboTa CIOCOOHOCTBIO  CBODOOIHO
TIPUMEHSITh ux AJ1s1
BbIpa)KeHUSI CBOMX MBIC/IEN U
pelLleHus
Ipo(eCCUOHAIBHBIX 3afiau
OIIK 13 | [ToporoBeii 1. Pabora Ha | 3HaeT U NOHHMAeT: Texyuuit 41-60
yueOHbIX 3aHATUSX | - OCHOBBI paboThI C KOHTPO/JIb: 6annoB
3/IEKTPOHHBIMH CJIOBAPSIMU U | YCTHBIM OTPOC
2. IPYTUMU 3/1EKTPOHHBIMU Ha 3aHATHSIX;
CaMocCTosTe/IbHa | Pecypcamu BbIIOJIHEHHE
g pabota Ywmeer: TeCTOBBIX
- paboTath C 71eKTPOHHBIMU | 3alaHui
CJIOBapsIMM U [IpPyTUMU
3/1eKTPOHHBIMU pecypcamu
JJIs1 peLleHust
JIMHTBUCTUYECKUX 3a/la4
MpogsunyTeiii | 1. PaGota  Ha | Brageer (HaBbikamu w/unm | Texymmii 61-100
yueOHbIX 3aHSATUSX | ONBITOM JAeSTeTLHOCTH): KOHTPOJIb: 6anioB
2. - HaBbIKaMU PabOTHI € TIpe3eHTaLyy,
CamocTosiTesibHast | 5/1eKTPOHHBIMM C/I0BapsIMU U | HayuHble
pabota IPYTUMU 3/IeEKTPOHHBIMHU JOK/azbl.
pecypcamu Aijisl pelleHust
JIMHIBUCTHYECKUX 3a/1a4
OIIK 16 | IMoporossiii 1. Pabora Ha | 3HaeT M MOHHUMaeT: Texymuui 41-60
yueOHbIX 3aHATUSAX | - OCHOBHBIE METOUKH KOHTPO/Ib: GannoB

2.
CamocTosTenbHas
pabora

TOUCKA, aHa/IH3a U
06paboTku MaTepuana
WCCTIe[IOBaHUS

Ywmeert:

- TIPUMEHSITb U3yUYeHHbIe
MeTO/Ibl U METOZIUKU
WCCTIeZIOBaHUs TIPU
pa3paboTke COOCTBEHHOM
HayuYHOU paboThI;

- aHAJTM3UPOBATh u
obpabaTbiBaTh MOJyYeHHbBIE
pe3yJIbTaThl UCC/IeJOBAHUST

YCTHBIN OTpoC
Ha 3aHATHSIX
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[popsunyTteii | 1.  Pabora  Ha | Byajgeer (HaBbikamMu n/unm | Texyuiuii 61-100
yueOHbIX 3aHATHSAX | ONBITOM AeSTeTbHOCTH): KOHTPOJIb: 6annoB
2. - CTaH/]JapTHBIMU | TIpe3eHTaLlH,
CamocTosiTesibHasi | MeTOJUKaMU TIOWCKA, | HAyYHbIe
pabora aHa/mM3a M 00pabOTKHU | JOK/IAfbI.

MarepHasa UccieloBaHus

OIIK 17 | INoporoBsiii 1. Pabora Ha | 3HaeT U NOHHMAaeT: Texyiuit 41-60
yueOHbIX 3aHATUSAX | - METO/0JIOTHIO OLIEHKU KOHTPOJIb: 6annoB
2. KauecTBa HayuyHOT0 YCTHBIN OMPOC
CamocTosiTesibHast | UCCe0BaHUS Ha 3aHATHSIX;
pabota Ywmeer: BBITIO/THEHHE

- OLIeHHBaTb KaueCTBO TECTOBBIX
WCC/IeZIOBAaHMS B CBOEM 3a/laHuH
TpeMeTHOMN 00/1acTH,

- COOTHOCUTB HOBYIO

MHGOPMALUIO C yiKe

WMeroIIecs,

- JIOTUYHO u
1oc/ie/j0BaTeIbHO

TpeJCTaB/sATh  pe3yJIbTaThl
COOCTBEHHOTO

UCCIIeloBaHUs

IMpogpunyteii | 1. Pabota  Ha | Biageer (HaBbikamu w/unm | Tekyruii 61-100
yueOHbIX 3aHATHSAX | ONBITOM AeATeTbHOCTH): KOHTPOJIb: 6annoB
2. - HaBbIKAMM aHalM3a U | Mpe3eHTalWy,
CamocTosiTeNibHasi | TIpeICTaB/IeHNs] pe3y/IbTaToOB | HayuyHbIe
pabota HayYHBIX HCC/e[JOBaHUM B | JOK/IA/IBL

paMKax OT/eJTbHBIX
W3yuYeHHbIX JUCLMIUIMH U Ha
CTBIKe HECKOJIbKMX
TpeMEeTHBIX 00/1acTel.

IK-27 [Toporossbiit 1. Pabora Ha | 3HaeT U NOHHMAeT: Texyiuit 41-60
yueOHbIX 3aHATUSX | - METO/[0JIOTHIO OLIEHKU KOHTPOJIb: 6annoB
2. KauecTBa Hay4YHOI'0 YCTHBIH omnpoc
CamocTosiTesibHast | UCCeJOBaHUS Ha 3aHATHSIX;
pabora Ymeer: BBITOJ/THEHHE

- OL|eHMBaTb KauecTBO TECTOBBIX
WCCe/loBaHus B CBoel 3a/laHui
TpeMeTHOH 00/1acTH,

- COOTHOCHUTB HOBYIO

MHGOPMALHIIO C yiKe

HMerolLencs,

- JIOTUYHO "
TIoc/ie/[0BaTeIbHO

TpeJCTaB/sATh  pe3yJIbTaThl
COOCTBEHHOTO

UCCrIefloBaHUs

IpogsunyTteiii | 1. PaGota  Ha | Brageer (HaBbikamu n/unm | Tekyumii 61-100
yueOHbIX 3aHATUSAX | ONBITOM JAeSTeTbHOCTH): KOHTPO/JIb: OannoB
2. - HaBblKAMM aHalM3a MU | Ipe3eHTaL|y,
CamocTosiTesibHast | TIpe/ICTaB/IeHUsI Pe3y/TbTaToOB | HAyuyHbIe
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pabota Hay4yHbIX WCCAe[OBaHUM B | JOKJafbl.

PaMKadx OTAe/IbHbIX
N3YUYE€HHBIX NUCIUIVIMH W Ha
CTBIKe HEeCKOJIbKHUX

TIpeIMeTHBIX 00/1acTe.

3. TunoBsbie 3didHUA W/IM HHbI€¢ MdTepHa/Ibl, HEOGXOHHMI:IE JJ/IA OIl€HKH
pe3y/jIibTAdTOB 0CBOE€HHUA IPOrpaMMbl JUCHHUITI/ITUHBI

['ocynapcTBeHHOE 0Opa3oBaTebHOE yupesk/jeHue BhICIero oopa3oBaHus
MOCKOBCKUI I'OCYZIAPCTBEHHBIN OBJIACTHOM YHUBEPCUTET
(MIraoy)

VIHCTUTYT JIMHIBUCTUKU U MEXKKY/IbTYPHON KOMMYHUKALIUU
daky/ibTeT pOMaHO-TepPMaHCKHUX SI3bIKOB
Kadepa Teopry 1 NpaKTUKKU aHTIMACKOTO s13bIKA

TeMbl JOK/Ia/I0B M MPe3eHTalui Mo JUCHUIVINHE «JIeKcuKo/10rusa»

O1eHuBaeMble KOMIIETEHI|MHU:
OIIK-1, OIIK-3, OIIK-7, OIIK-13, OIIK-16, OITK-17, I[TK-27
YpoBensb: [Toporoeiii/IIpoBUHYTHIN

1. AKpOHUMBI B COBPEMEHHOM aHIJIMMCKOM SI3bIKE.

2. KonBepcusi Kak crmocob cioBooOpa3oBaHUsi B COBPEMEHHOM aHT/IMMCKOM
sSI3BbIKe.

3. Ilonarue aCCUMUJIALIUU 3aMMCTBOBAHUM v MeTO/MKa ee
VICCJIeJOBaHNs.

4. JlepyBallMOHHBIM TOTEHL[MaA 3aMMCTBOBaHHBIX CJIOB.

5. CemaHTHYeCKasi CTPYKTypa HeOJIOTU3MOB-CYIL[eCTBUTE/IbHbIX B OPUTAHCKOM U
aMepUKaHCKOM BapyaHTax aHTJIMKMCKOrO S3bIKa.

6. ®paseonornyeckass CUHOHUMUSI B COBDEMEHHOM aHI/IMMCKOM SI3bIKE.

7. ®paseosiornueckasi aHTOHUMHSI B COBPEMEHHOM aHTJIMHMCKOM SI3bIKe.




8. ABTOpcKue  mpeoOpa3oBaHUS

(dbpaseosiorunyecKkmux

eIUHUL]

CTUTMCTHYECKOe UCTI0/Ib30BaHe (OKKa3MOHAU3MBbI).
9. imeHa coOcTBeHHble B si3blke peK/lambl (Ha MaTepuaje pPYCCKOrO H

aQHTJTMHACKOTO SI3bIKa).

n

10.,Z[I/IaJ'IEKTI/I3MLI B AHIVIMHACKOM SI3BbIKe (Ha MdTepHrdjie IMOT/IaHACKHUX W

HUPJIaHACKUX ,E[I/IaJ'IEKTI/ISMOB).

11.IlnaxpoHurueckasi MoJMCeMHsI Ha3BaHUM OJeXbl B aHIJIMMCKOM S3bIKE.
12.HaiuoHanbHO-Ky/AbTYpHasi crielju(rKa MpPO3BUIL B aHIJIMWCKOM S3bIKE.
13.AHTOHUMMSL CJIOXKHBIX CJIOB B COBPEMEHHOM aHIJIMMCKOM SI3bIKE.
14.AddukcanbHble 3aMMCTBOBAHUSI B aHIVIMMCKOM S3bIKe.

15.CemaHThuecKie OCOOEHHOCTH pPYCCKMX 3aMMCTBOBAaHWWA B aHTJIMHCKOM

A3bIKe.

16.MimeHa coOCTBeHHble B aHTJIMMCKOM aBTOPCKOM CKa3Ke U Crocobbl HX

repefilauyd Ha PYCCKUM SI3bIK.
17.HeoduimanbHble  HMMeHa

aHIJIMKMCKOrO SA3BIKa.
18.413b1KOBass urpa B TeKCTax [ECEeHHOI'O >KaHpa.

cOOCTBeHHbIe B

OpuTaHCKOM

BapUaHTe

19.Crioco05I BbIpa)KE€HHA YC/I0BHUA B PYCCKUX U AHTIMACKUX IIOC/1I0BHLIdX.

20.CTpyKTypHO-CeMaHTUUeCKre 0COOeHHOCTH

AHTJIMHCKUX

IMOroBOPOK C MPOCTPAHCTBEHHO-BPEMEHHBIMU XdPdKTEPHUCTUKAMMU.

KpuTepuu onieHuBaHMsA J0K/1aja

TIOC/IOBUI]

IToka3zarTenn

Bbann

,Z[OKJIEIA COOTBETCTBYET 3asiBJIeHHOM TéMe, BBIIIOJIHEH C
IMpuBJIe4YeHWeM  OOCTATOYHOI'0 KOJ/IMUeCTBa HAYUYHBIX U
MpaKTHU4YeCKUX HCTOYHHMKOB II0 TeMe, 6aKanaBp B COCTOsSAHHH
OTBETUTH Ha BOIIPOCEHI I10 TeMe O0K/add.

OTJINYHO
81-100%

8-10

[oknaj COOTBeTCTBYeT 3asiBJIeHHOW TeMe, BBIIOJHEH C
MpUB/€YeHUeM [OCTaTOYHOrO KOIMYeCTBa HAyuHbIX U
TIPaKTUYeCKUX HCTOUHUKOB TI0 TeMe, OakajaBD B COCTOSTHUU
OTBeTUTb Ha BOIIPOCHI MO TeMe [OK/laJa, HO [OIyCcKaeT
HEKOTOpble HETOYHOCTHU B OTBETE

XOPOIIIO0
61-81%

5-7

[oknaz B 11eJIoM COOTBETCTBYeT 3asiBJIEHHOUW Teme, BbINOHEH
C TpUBJEUYEHHWEM HEeCKOJbKMX HayuHbIX M TMPaKTUYECKUX
WUCTOUYHUKOB TI0 TeMe, OakasaBp B COCTOSIHUM OTBETHUTh Ha
YyacTb BOTMPOCOB M0 TeMe /T0K/Ia/ia.

Y/I0B/IETBOPUTE/ILHO
41-60%

2-4

[oknax He COBCeM COOTBETCTBYeT 3asiB/IeHHOM TeMe,
BBITIOJIHEH C MCIIO0/Ib30BaHUEM TOJBKO 1 MM 2 HMCTOYHMKOB,
OakasaBp [OIMyCKaeT OLIMOKU TIPH U3/I0)KEeHUW MaTepuara, He
B COCTOSTHUM OTBETHTh Ha BOIIPOCKI IT0 TEMe JOK/Iaja.

HeYZIOB/IETBOPUTETEHO
0-40%

0-1

KpuTepuu onjeHUBaHMs Mpe3eHTalUI

IToxka3arenn

bann

[IpencraBnsiemast vHbopMarus CUCTeMaTU3UPOBaHa,
rocsiefioBateslbHa M JIOTMUECKHA CBsizaHa. [IpoGrema pacKphbiTa
NMoHOCTBI0. [1IMPOKO MCMO/Ib30BaHbl BO3MOXKHOCTH T€XHOJIOTUU
Power Point.

OTJINYHO
81-100%

8-10




[MpencraBnsiemass MHGOpMalvs B 1leJIOM CUCTeMaTH3WpPOBaHa, | XOPOILIO 5-7
roc/iefioBaTelbHa M JIOTHUECKH CBsi3aHa (BO3MOXKHBI HeOobIve | 61-81%
OTKJIOHEHNs). [Tpo6nema packphITa. Bo3mosxHbI
He3HauuTesibHbIe OMOKK Tipyu odopmaeHur B Power Point (He
Oomee aBYX).

[IpexcraBnsiemast UHQOpPMAaLMS B 11eJIOM CUCTeMaTU3MPOBaHa, HO | Y/IOBJIETBOPUTEILHO 2-4
He TMoC/iefioBaTe/lbHA W He CBsi3aHa Jiormuecku. IIpo6nema | 41-60%
pacKpeiTa He  TIOJHOCThIO. BO3MOXKHBI ~ OWIMOKM  TIpU
odopmienuu B Power Point.

[MpencraBnsiemass uHGoOpMalUsi He CUCTeMaTH3UpOBaHa U He | HeyZoBJeTBOpUTenbHO | 0-1
coBceM Tioc/iefioBatesibHa. [TpobieMa packpbiTa He MOAHOCTRIO. | 0-40%
BreiBosbI He cenaHbl WiIM He 000CHOBaHbI. Bo3MOKHOCTHU
TexHoJioruu Power Point KCII0/Ib30BaHbI Wb YaCTUYHO.

['ocymapcTBeHHOe 0Opa3oBaTebHOE yUpesk/jeHue BhICIIIero oopa3oBaHus
MOCKOBCKUI I'OCYZIAPCTBEHHBIN OBJIACTHOM YHUBEPCUTET
(Mraoy)

VHCTUTYT JIMHIBUCTUKU U MEXXKYJIbTYPHON KOMMYHUKALUU
@daky/bTeT pOMaHO-TepMaHCKHUX SI3bIKOB
Kadepa Teopry ¥ NpaKTUKKU aHIIMCKOTO s13bIKa

IIpakTnueckoe 3aganue Classification of morphemes
Mo JUCHUILINHE «/IeKCHKO0/10rusa»

Tema: Mopdewmsbl. Knaccudukaiiys mopdem. AnioMopdbl.
O1ieHriBaeMble KOMIIETEHI[UM:
OIlIK-1, OITK-3, OIIK-7, OIIK-13, OIIK-16, OIIK-17, TTK-27

Ypogenn: [Toporossiv

Segment the following words into morphemes. Define the semantic types and the
structural types of morphemes constituting the given words.

Model: careful

The word careful can be segmented into two morphemes: care- + -ful.

a) semantically care- is a root morpheme; -ful is an affix
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b) structurally care- is a free morpheme; -ful is a bound morpheme
inwardly, pleasure, reservation, bigger, reconstruction, moneywise, counterculture,

specialize, purify, pre-school, expressionless, befriend, weekly, lengthen, superpower,
computerize, suspect, forget-me-not, workaholic, impolite.

KPHTEPI/II/I OlLl€eHMBAHUA BBINMO/THEHUA NMPAKTHYECKOr0 3a/ildHUA

IToka3arTenn bann

3alaHye BBITIOTHEHO MOJIHOCTEIO0, KOJIMYECTBO OIIMO0K — He 6ostee 5% 5

3ajaHue BBINIOJHEHO ITPAKTHUECKU IT0JIHOCTBIO, KOJMUeCTBO OIIMOOK — | 4
He 0ostee 10%

3alaHKe BBLITIOTHEHO YaCTUUHO, KOJTMUeCTBO OIIMO0K — He bosee 30%. 3

3a/iaHye BBITIOJIHEHO, HO COZIEPKUT MHOXKECTBO OIMO0K — 6osee 50%. 2

['ocymapcTBeHHOe 06pa3oBaTe/ibHOE YUpeXk/ieHre BbICIiero o6pa3oBaHusl
MOCKOBCKNI I'OCYJAPCTBEHHBIN OBJIACTHOM YHUBEPCUTET
(MI"'OY)

WHCTUTYT MTMHIBUCTHUKY U MEXKYJIbTYPHOW KOMMYHUKAL[UN
@aKy/ibTeT pOMaHO-TePMaHCKHX SA3bIKOB
Kadenpa Teopyu 1 MpakTUKKU aHTJIMHACKOTO SI3bIKa

IIpakTnueckoe 3asanue Compound words analysis
o AUCHUILIMHE «/IeKcuKo/10rusa»

Tema: CoBoc/ioKeHHe

OneHBaemMble KOMIIeTeHI[HH:

OIIK-1, OIIK-3, OITK-7, OIIK-13, OITIK-16, OIIK-17, [1K-27
YpoBensb: [1poBUHYyThIN

To analyze the lexical unit snow-white we can apply a number of classifications:
1. According to the way of formation this word is compound, thus it is formed by
means of composition.
2. According to the part-of-speech classification it is a noun.

11
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According to its structure it is a compound word proper.

According to the way the components are joined together it is neutral.

5. According to the relations between the components it is a subordinative

compound with comparative relations.
6. According to the order of the components it is asyntactic.

7. According to the meaning of the whole compound it is non-idiomatic.

Use the plan above and analyze the following units:

All-or-none, golden-haired, radio-network, to job-hop, make-up, to

clockwatch,

autotimer, walkie-talkie, stereophonic, brawn-drain, too-too, can-do, shock-frock, to

fingerprint, phone-in, statesman, work-in, to cold-shoulder.

KPHTepHI/I OLl€HUBAHUA BbBINMO/IHEHUA MPAKTUYIECKOI0 3a/ildHUA

IToka3aresb bann
3alaHue BBITIO/THEHO MOJIHOCTELI0, KOJIMYEeCTBO OLIMO0K — He Oosiee 5% 5
3ajjaHuie BBITIOJTHEHO TTPAKTHUECKU ITT0JTHOCTBIO, KOJTMUECTBO OIMMOO0K — | 4

He 6osiee 10%

3alaHKe BBHITIOJTHEHO YaCTUUHO, KOJTMUeCTBO OMIMO0K — He 6omee 30%. 3
3a/laHe BHITIOJIHEHO, HO COZIEPKUT MHOXKECTBO OIMO0K — 605ee 50%. 2

1.

I'ocymapcTBeHHOE 0Opa3oBaTebHOE YUPEXK/JeHHe BBICIIIEro 00pa30BaHus
MOCKOBCKNI I'OCYJAPCTBEHHBIN OBJIACTHOM YHUBEPCUTET

(Mroy)
VIHCTUTYT JIMHIBUCTUKUA U MEXKKY/IbTYPHOM KOMMYHUKALIUU
@DaKy/bTeT pOMaHO-TepPMaHCKHX SI3bIKOB
Kadepa Teopry 1 NpakTUKKU aHIJIMACKOTO S13bIKA

Tembl /i1 yCTHOrO orpoca
o AUCHUILIMHE «/IeKCMKo/10rusa»
OneHnBaemMblie KOMIIETEHI[MH:
OIIK-1, OIIK-3, OIIK-7, OIIK-13, OIIK-16, OIIK-17, I[1K-27

Lexicography. The main types of dictionaries.

2.Archaic words and neologisms.

3.

N

Aspects of lexical meaning.

The problem of synonymy. Classification of synonyms.
Syntactical classification of phraseological units.

Antonymy. Types of antonyms.

Structural classification of phraseological units.

Polysemy and homonymy. The structure of a polysemantic word.

12



9. Semantic classification of phraseological units.
10.Classification of homonyms. Sources of homonymy.

11.Phraseological units: the definition and characteristic features. Classifications of

phraseological units.

12.Development of lexical meaning. Causes and types of semantic changes.

13.Secondary ways of word formation: shortening, acronymy, back formation,

blending, sound interchange, sound imitation, stress interchange.
14.Metaphor and metonymy as mechanism of creating new meaning.

KpuTepuu olleHUBaHHMs YCTHOI'O onpoca

IToka3zarTenn Bbann

OTBeT MNOJHBIM U COAep)KaTe/bHbId, COOTBETCTBYeT TeMe; | OTINYHO
OakasiaBp ymeeT apryMeHTHDOBAaHO OTCTaMBaTh CBOIO TOYKY | 81-100%
3peHus, JeMOHCTpPUpYyeT 3HaHue TePMHUHOJIOTUN
JVICLITI/IUHBI

8-10

OTBeT copepykaTe/bHbIMA, COOTBETCTBYET TeMe, HO COZIeP)KUT | XOPOLLO
1-2 ommbku; GakasaBp ymeeT apryMeHTHUPOBAHO OTcTauBaTh | 61-81%
CBOIO TOYKY 3pP€HUS], eMOHCTpUPYeT 3HaHue TepMUHOJIOTUU
JVCLITI/IUHBI

5-7

OTBeT B LIeJIOM COOTBETCTBYyeT TemMe  (He OTpaXkeHbl | yIOBIE€TBOPUTE/ILHO
HEKOTOpbIe acreKThl); OakasaBp yMmeeT OTcTanWBaTh CBOIO | 41-60%

TOUYKY (XOTsI apryMeHTalysl He BCerja Ha [JO/UKHOM YDOBHeE);
J€EMOHCTPUpYeT YA0BJIETBOPUTE/ILHOE 3HaHue
TePMUHOJIOTUM JUCLIUIJIMHBI

2-4

OTBeT HemnoJiHBIA Kak IO 00beMy, TaK U TI0 COZEep>KaHUIO | HEYJOBJIETBOPUTELHO
(XOTS1 ¥ COOTBETCTBYET TEME), COAEPXKUT Ccephe3Hbie oMbky; | 0-40%

aprymeHTaldsi He Ha  COOTBETCTBYIOLLEM  YpOBHe,
MIPUCYTCTBYIOT MPO0OJIEMBI C yIIOTpeb/eHreM TePMUHOIOTUU
JUCLUIIMHBI

0-1
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I'ocymapcTBeHHOe 0O0pa3oBaTe/IbHOE YUPeXKIeHHe BBICIIEro 06pa3oBaHus
MOCKOBCKNI I'OCYJAPCTBEHHBIN OBJIACTHOW YHUBEPCUTET
(MI'OY)

I/IHCTI/ITyT JIMHI'BUCTHUKU U Me}KKYJIbTypHOﬁ KOMMyHI/IKa]_[I/II/I
q)aKYJ'[bTET pOMaHO-FepMaHCKI/IX A3BIKOB
Kadenpa Teopyu 1 NpakTUKKU aHTJIMHACKOTO SI3bIKa

Tect (BapuanT 1)
10 JMCIUIIHHE «JIeKCHKO0/10rusa»

OneHuBaemMble KOMIIETEHI|MH:
OIIK-1, OIIK-3, OITK-7, OTIK-13, OIIK-16, OIIK-17, TIK-27
Ypogenn: [Toporossiv

1. Immediate constituents are:

a) two meaningful components the word breaks into at each stage of morphological analysis:
b) the elements which are no longer divisible

c) the smallest linguistic units possessing meaning

d) constituents incapable of further division into any smaller elements possessing sound-form
and meaning

14



2. The analysis of the word “spinster” = noun, countable noun, human, adult, female, who
has never been married is:

a) contrastive

b) Immediate Constituents analysis

c) componential

d) transformational

3. The major criteria for distinguishing between phraseological units and free word-groups
are:

a) semantic

b) stylistic

c) semantic and structural

d) structural

4. Word structure consists in:

a) making new words with the help of morphemes
b) segmentation of words into morphemes

c) segmentation of words into syllables

d) making new words with the help of composition

5. By their activity in the language affixes are classified into:
a) recurrent and unique

b) prefixes and suffixes

c) productive and non-productive

d) native and borrowed

6. The name given to the use of the same word in two or more distinct meanings is:
a) antonymy
b) polysemy
C) synonymy
d) paronymy

7. Words denoting objects and phenomena which are things of the past and no longer exist
are called:

a) archaisms

b) historisms

c) borrowings

d) neologisms

8. The words “incredulous’ and “incredible” are:
a) homonyms
b) antonyms
C) paronyms
d) synonyms

9. The members of a thematic group which belong to the same part of speech and are so
close to one another semantically that to be able to use them correctly in speech we require
exact knowledge of the shades of meaning and stylistic connotations are:

a) synonyms

b) antonyms

c) homonyms

d) paronyms
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10. The synonyms “dad — father — parent” are:
a) ideographic

b) ideographic — stylistic

c) stylistic

d) slang

11. The structure of the word “blue-eyed” is:
a) simple

b) affixed

c) compound

d) compound-affixed

12. the structure of the word “handful” is:
a) simple

b) affixed

c) compound

d) compound-affixed

13. The word “mike” was formed by:
a) affixation

b) composition

c) abbreviation

d) conversion

14. The word “baby-sit” was formed by:
a) affixation

b) abbreviation

C) composition

d) back formation

15. The word “buzz” was formed by:
a) conversion

b) back formation

c) sound imitation

d) sound interchange

16. The word “middle-of-the-roader” was formed by:
a) composition

b) affixation

c) back formation

d) conversion

17. Which of the words has a derived stem:
a) darkness

b) teacher

¢) unbound

d) uncomfortable

18. Find a word with a compound stem:
a) greenhouse
b) unemployment
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c) insignificant
d) mouthful

19. Which of the words is built in accordance with the formula: adj+ suff?
a) irresistible

b) invariably

c) impossible

d) good-for-nothing

20. Which of the words is built in accordance with the pattern: in- + Verb + -able + -ly:
a) impossible

b) irresistible

c) invariably

d) unbelievably

21. Find a deverbal substance denoting the result of the action:
a) to smile —a smile

b) to help — help

c) to find —a find

d) to glance —a glance

22. Find a deverbal substance denoting an instance of the action:
a) to leak —aleak

b) to peel —a peel

c) to dress —a dress

d) to glance —a glance

23. Find a compound noun:
a) theatre-goer

b) rain-driven

c) Afro-American

d) warm-hearted

24. Find a compound adjective:
a) sick-leave

b) backbite

c) armchair

d) sky-blue

25. Find a compound word in which the components are placed one after another
(juxtaposition):

a) Anglo-Saxon

b) horseman

C) sportsman

d) handiwork

26. Find a compound word whose components are joined together with a linking vowel:
a) photointelligence

b) telephone

C) gasometre

d) fountain-pen
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27. Find a compound word whose components are joined together with a linking consonant:
a) handicraft
b) hazel-eyed
c) sunflower
d) statesman

28. Find an example of a compound-affixed adjective formed with the help of a suffix:
a) ice-cold

b) age-long

c) absent-minded

d) red-hot

29. Find an example of a compound-affixed noun:
a) masterpiece

b) short-sighted

c) good-looking

d) shoe-maker

30. Find a coordinative compound formed by joining phonically varied rhythmic forms:
a) long-living

b) man-servant

c) willy-nilly

d) blueprint

31. Find a coordinative (additive) compound:
a) singer-songwriter

b) night-school

c) sunflower

d) looking-glass

32. Find a coordinative (reduplicative) compound:
a) rah-rah

b) walkie-talkie

c) lady-bug

d) railroad

33. Find an example of a subordinate compound:
a) fifty-fifty

b) snowball

C) actor-manager

d) pooh-pooh

34. Find a syntactic compound word:
a) thick-haired

b) nobleman

c) green-eyed

d) wrapping-paper

35. Find a compound with a unity stress:
a) sun-flower

b) door-nail

c) ill-nature
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d) snow-white

36. Find a compound with a double stress (primary and secondary):
a) dog-kennel

b) heartache

c) bluebell

d) workhouse

37. find a compound with two level stresses:
a) torch-light

b) newspaper

c) fellow-man

d) bookcase

38. find a non-motivated (idiomatic) compound:
a) sunrise

b) narrow-minded

c) engine-driver

d) bluestocking

39. Find a graphical abbreviation:
a) e.g.

b) fancy

C) tram

d) YMCA

40. Find an initial abbreviation which is read asa succession of the alphabetical readings of
the constituent letters:

a) BBC

b) Mrs.

c) radar

d) RAF

41. The word “CLASS” is:
a) a graphical abbreviation
b) an acronym

c) a lexical abbreviation
d) a blend

42. Find an example of ideographic-stylistic synonyms:
a) to see —to view

b) to see —to behold

C) to see —to observe

d) to see —to watch

43. Find the dominant of the synonymic set:
a) celebrated

b) famous

c) distinguished

d) eminent

44. Find an example of absolute synonyms:
19



a) eye-doctor — occulist

b) large — vast

C) to get—to receive

d) word-building — word-formation

45. Find an example of homographs:

a) bow (moksioH) — bow (1yk)

b) right (mpaBbli1) — write (mMcatp)

c) ring (kosb1j0) — ring (TesiehOHHBIN 3BOHOK)

d) to found (ocHoBbIBaTh) — found (past tense to find)

46. Find an example of homophones:

a) lead (cBunerr) — lead (Bectn)

b) can (ymeTb; ObITb B COCTOSTHMM) — can (KOHCEPBHUPOBATh)
c) long (auHHBINM) — long (>kaaTh)

d) meat (Msico) — meet (BCTpeuaTh)

47. Find an example of a free word-group:
a) to read books

b) to cry for the moon

c) to fall in love

d) to fly into a rage

48. Narrowing of the meaning is:
a) generalization

b) specialization

c) hyperbole

d) litotes

49. Degradation of the meaning is:
a) elevation

b) degeneration

c) specialization

d) generalization

50. Lexicology is a branch of linguistics which deals with...

a) the various means of expressing grammatical relations between words and with the
patterns after which words are combined into word groups and sentences

b) the outer sound form of the word

c) lexical units and the vocabulary of a language

d) the study of the nature, functions and structure of stylistic devices and with the
investigation of each style of the language

TecTbl MOPOroBOro ypoBHsI OlleHMBalOTCsT 13 pacueta 100 6anioB, KaXK/bli MPaBUIbHBINA OTBET
oLIeHMBaeTCs B 2 Oasa.
[ITkasa COOTBETCTBUSI PEHTUHIOBBIX OL|EHOK MsATHOaIbHbIM orjeHKam: 100 — 81- «oTmuHO» (5);
80 — 61 - «xopoiio» (4); 60 — 41 - «ygoBnetrBoputenbHO» (3); 40 — 21 - «HeyJ0B/I€TBOPUTETBHO»
(2),20 -0 - «HeoOXOJMMO TTOBTOPHOE U3yUeHUE».

KpuTepuu onjeHKH TecTa (IOPOroBbIii YPOBeHb)

| OreHKa 1o 5-6a/IbHOM cucTeMe | Ouenka 1o 100-6anibHOM | basbl a1 arrectanuuu
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CUCTEMe
5 | OT/IMYHO 81 -100 17-20
4 | xopoluo 61 —80 13-16
3 | yAOB/IETBOPUTEBHO 41 - 60 9-12
2 | HeyJOBJIeTBOPUTE/ILHO 21 -40 5-8
1 | Heobxomumo TIOBTOPHOE 0-20 0-4
v3yyeHue

I'ocymapcTBeHHOE 0Opa3oBaTebHOE YUPEXK/JeHHE BBICIIIEro 00pa30BaHus
MOCKOBCKNI I'OCYJAPCTBEHHBIN OBJIACTHOM YHUBEPCUTET
(MI"OY)

WHCTUTYT TMHIBUCTHUKY U MEXKKYJIbTYPHOW KOMMYHUKAL[UW
@aKy/ibTeT pOMaHO-TePMaHCKHX SA3bIKOB
Kadenapa Teopyu 1 MpakKTUKKU aHTJIMHACKOTO SI3bIKa

Tect (BapuaHT 2)
0 AUCHUILIMHE «/IeKCMKo/10rusa»

OneHnBaemMblie KOMIIETEHI[UM:
OIIK-1, OIIK-3, OIIK-7, OIIK-13, OIIK-16, OIIK-17, IIK-27
Yposens: [Toporossiii

1. Immediate constituents are:

a) two meaningful components the word breaks into at each stage of morphological analysis:

b) the elements which are no longer divisible

c) the smallest linguistic units possessing meaning

d) constituents incapable of further division into any smaller elements possessing sound-form and
meaning
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2. The major criteria for distinguishing between phraseological units and free word-groups are:
a) semantic

b) stylistic

c) semantic and structural

d) structural

3. Word structure consists in:

a) making new words with the help of morphemes
b) segmentation of words into morphemes

c) segmentation of words into syllables

d) making new words with the help of composition

4. By their activity in the language affixes are classified into:
a) recurrent and unique

b) prefixes and suffixes

c) productive and non-productive

d) native and borrowed

5. The structure of the word “blue-eyed” is:
a) simple

b) affixed

c) compound

d) compound-affixed

6. the structure of the word “handful” is:
a) simple

b) affixed

¢) compound

d) compound-affixed

7. The word “mike” was formed by:
a) affixation

b) composition

c) abbreviation

d) conversion

8. The word “baby-sit” was formed by:
a) affixation

b) abbreviation

C) composition

d) back formation

9. The word “buzz” was formed by:
a) conversion

b) back formation

¢) sound imitation

d) sound interchange

10. The word “middle-of-the-roader” was formed by:
a) composition

b) affixation

¢) back formation

d) conversion

11. Which of the words has a derived stem:
22



a) darkness
b) teacher
¢) unbound
d) uncomfortable

12. Find a word with a compound stem:
a) greenhouse

b) unemployment

c) insignificant

d) mouthful

13. Find a deverbal substance denoting the result of the action:
a) to smile —a smile

b) to help — help

c) to find—a find

d) to glance —a glance

14. Find a deverbal substance denoting an instance of the action:
a) to leak —aleak

b) to peel —a peel

c) to dress —a dress

d) to glance —a glance

15. Find a compound word whose components are joined together with a linking vowel:
a) photointelligence

b) telephone

C) gasometre

d) fountain-pen

16. Find a compound word whose components are joined together with a linking consonant:
a) handicraft
b) hazel-eyed
¢) sunflower
d) statesman

17. Find an example of a compound-affixed adjective formed with the help of a suffix:
a) ice-cold

b) age-long

c) absent-minded

d) red-hot

18. Find a coordinative compound formed by joining phonically varied rhythmic forms:
a) long-living

b) man-servant

¢) willy-nilly

d) blueprint

19. Find a coordinative (additive) compound:
a) singer-songwriter

b) night-school

¢) sunflower

d) looking-glass

20. Find a coordinative (reduplicative) compound:
a) rah-rah
b) walkie-talkie
c) lady-bug
23



d) railroad

21. Find an example of a subordinate compound:
a) fifty-fifty

b) snowball

C) actor-manager

d) pooh-pooh

22. find a non-motivated (idiomatic) compound:
a) sunrise

b) narrow-minded

c) engine-driver

d) bluestocking

23. Find a graphical abbreviation:
a) e.g.

b) fancy

C) tram

d) YMCA

24. Find an initial abbreviation which is read as a succession of the alphabetical readings of the
constituent letters:

a) BBC

b) Mrs.

¢) radar

d) RAF

25. The word “CLASS” is:
a) a graphical abbreviation
b) an acronym

c) a lexical abbreviation
d) a blend

26. Lexicology is a branch of linguistics which deals with...

a) the various means of expressing grammatical relations between words and with the patterns after
which words are combined into word groups and sentences

b) the outer sound form of the word

¢) lexical units and the vocabulary of alanguage

d) the study of the nature, functions and structure of stylistic devices and with the investigation of
each style of the language

27. Affixation is:

a) a way of word-building consisting in adding an affix to the stem of a word
b) shortening of words

¢) a way of word-building consisting in forming one part of speech from another
d) a way of word-building consisting in shifting the stress

28. A non-affixal type of word-building is:
a) composition

b) conversion

c) sound imitation

d) reduplication

29. The derivational stem (base) and derivational affix into which the derived word is segmented
are:

a) immediate meaningful constituents

b) ultimate constituents
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¢) lexical morphemes
d) grammatical morphemes

30. The meaning of a compound is derived from:

a) the structural meaning of its pattern

b) the lexical meaning of its immediate constituents

¢) the lexical meanings of its immediate constituents and from the structural meaning of its pattern
d) the lexical meaning of its ultimate constituents and from the structural meaning of its pattern

31. Compounds may be coordinate and subordinate according to:
a) the order of their immediate constituents

b) the nature of their immediate constituents

c) the relations between their immediate constituents

d) the nature of the ultimate constituents

32. Verbalization is:

a) the formation of verbs from other parts of speech

b) the formation of adjectives from other parts of speech
c) the formation of nouns from other parts of speech

d) the formation of adverbs from other parts of speech

33. Substantivation is:

a) the formation of verbs from other parts of speech

b) the formation of adjectives from other parts of speech
c) the formation of nouns from other parts of speech

d) the formation of adverbs from other parts of speech

34. Lexical abbreviation of words consists:
a) in adding a part of a word

b) in clipping a part of a word

¢) in clipping a prefix

d) in adding a suffix

35. Find a derivational adjective-nominal compound:
a) gas-stove

b) red-nosed

c) motorway

d) brick-layer

36. Find nominal-verbal compound:
a) proof-read

b) cross-question

¢) fireman

d) writing-table

37. Find a verb-adverb compound:
a) a bookshelf

b) a double-check

c) a draw-back

d) a headmaster

38. Find a nominal compound:
a) colour-blind

b) telecast

¢) pale-faced

d) bottle-neck
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39. Find an example of a graphical abbreviation:
a) Mr. Brown’s office

b) V-Day

¢) MP’s speech

d) NATO

40. Find an abbreviation which is read as an ordinary word:
a) H-bomb

b) UNESCO

c) USA

d) BBC

41. Find an example of apocope:
a) curtsy

b) exam

o) flu

d) bus

42. Find an example of aphaeresis:
a) tec

b) taxi

c) plane

d) S.0.S.

43. Find an example of syncope:
a) specs

b) prof

c) lab

d) cycle

44. Find the word that has been clipped both at the beginning and at the end:
a) phone
b) photo
c) fridge
d) smog

45. Find an example of a blend:
a) fence

b) zoo

c) U-boat

d) motel

46. Find a denominal verb denoting deprivation of the object:
a) a crowd —to crowd

b) a bone —to bone

C) an ape —to ape

d) a pocket —to pocket

47. Find a denominal verb denoting an action produced with the object (instrumental relations):
a) a crowd — to crowd
b) a pump —to pump
c) a dress —to dress
d) a ferret —to ferret

48. Find a denominal verb denoting some action characteristic of the subject:
a) a hammer — to hammer
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b) a doctor —to doctor
c) abag—to bag
d) a pile—to pile

49. Find a denominal verb denoting placing into the object (relations of place):
a) ahead —to head

b) a bottle — to bottle

C) asaw —to saw

d) an elbow —to elbow

50. Find a denominal verb denoting addition of the object:
a) a monkey —to monkey

b) a queue —to queue

c) a back —to back

d) a fish—to fish

TecTbl HOPOroBOro ypoBHsI OlleHMBalOTCsT 13 pacueta 100 6anioB, KaXK/blid MPaBUIbHBINA OTBET
oLIeHMBaeTcs B 2 Oasa.

[ITkasa COOTBETCTBUSI PEHTUHTOBBIX OLIEHOK MsATHOaMIbHbIM orjeHKam: 100 — 81- «oTmuHO» (5);
80 — 61 - «xopoiio» (4); 60 — 41 - «ygoBneTBoputenbHO» (3); 40 — 21 - «HeyJ0B/I€TBOPUTEILHO»
(2),20 -0 - «HeoOXOJMMO TTOBTOPHOE U3yUeHUe».

KpuTepuu onjeHKH TecTa (IOpPOroBbIM YPOBEHb)

OrieHKa 110 5-0a/I/IbHOM crUcTeMe Onenka o 100-6anibHo# | Bansbl A aTTectalyu
cucreme
5 OTJIMYHO 81 —-100 17-20
4 | xopouio 61 —-80 13-16
3 | yAOB/IETBOPUTEBLHO 41 - 60 9-12
2 | HeyJOBIETBOPUTE/ILHO 21 -40 5-8
1 | Heobxomumo TIOBTOPHOE 0-20 0-4
H3yueHue
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['ocymapcTBeHHOE 0Opa3oBaTebHOE YUpeXKJeHHe BBICIIIero 00pa3oBaHus
MOCKOBCKU T'OCYJAPCTBEHHBIV OBJIACTHOW YHUBEPCUTET
(MIoYy)

VHCTATYT IMHTBUCTUKU M MEXKKY/IbTYPHON KOMMYHUKALIAN
(DaKYJ'[bTeT POMAHO-T€PMdHCKHUX A3bIKOB
Kadenpa Teopyu 1 pakTUKKU aHTJIMHACKOTO SI3bIKa

Tect (BapuanT 1)
10 JMCIUILIHHE «J/IeKCHKO0/10rusa»

OneHnBaemMble KOMIIETEHI[UM:
OIIK-1, OIIK-3, OIIK-7, OIIK-13, OIIK-16, OIIK-17, IIK-27
Yposens: [IpoaBuHYTHIN

1. Find an example of a non-assimilated borrowing:
a) fellow

b) café

c) forest

d) meeting
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2. Find an example of a completely assimilated borrowing:
a) hotel

b) restaurant

c) husband

d) machine

3. Find a loan-word not completely assimilated with the English language phonetically:
a) police

b) river

c) flower

d) wall

4. Find a loan-word not completely assimilated with the English language grammatically:
a) figure

b) army

c) datum

d) cage

5. Find a Celtic loan-word:
a) dream

b) grass

c) cradle

d) road

6. The term “lexicology” is of:
a) Greek origin

b) Latin origin

c) French origin

d) Russian origin

7. The two main approaches to studying language material are:
a) special and descriptive

b) historical and comparative

c) synchronic and diachronic

d) contrastive and general

8. Lexico-semantic system is:

a) a combination of interdependent elements

b) a type of classification of English vocabulary
c) a combination of changing elements

d) a stock of borrowings

9. The basic word-stock includes:
a) nouns

b) adjectives

c) different parts of speech

d) phraseological units

10. Archaisms are words which:

a) ousted some new words

b) are no longer used in everyday speech
c) are used to express new phenomena
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d) are used with new meanings

11. A proper neologism is:

a) an old lexical unit for denoting a new object or phenomenon
b) a lexical unit existing in the language and changing its meaning
c) anew lexical unit that develops in the language

d) a new lexical unit for denoting a new object or phenomenon

12. Semantic borrowings are such units in which:

a) a new meaning for the unit existing in the language is borrowed
b) there is a word-for-word (morpheme-for-morpheme) translation

c) the spelling, pronunciation and meaning are borrowed

d) there is complete assimilation

13. A morpheme is:

a) the main unit of the lexical system

b) the smallest language unit which can stand alone as a complete utterance
c) the smallest meaningful language unit

d) a group of words which exists in the language as aready-made unit

14. General dictionaries deal with:
a) synonyms

b) antonyms

c) word-frequency

d) translation

15. Historic events, geographical names, names for diseases, plants, animals, institutions are
included in:

a) encyclopedic dictionaries

b) linguistic dictionaries

c) explanatory dictionaries

d) general dictionaries

16. Dictionaries may be general and restricted by:

a) the nature of their word-list

b) the number of languages in which the information is presented
c) the language in which the information is presented

d) the amount of information presented

17. The dictionaries containing units in one language and their equivalents in another are:
a) translation dictionaries

b) explanatory dictionaries

c) etymological dictionaries

d) specialized dictionaries

18. The main types of semantic transfer are:
a) overstatement and understatement

b) metaphor and metonymy

c) irony and enantiosis

d) elevation and degradation

19. Metaphor is based on:
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a) contiguity of referents

b) similarity of referents in shape, function, in position, in behaviour, etc.

c) the gradual process when a word passes from a general sphere to some special sphere of
communication

d) the gradual process when the meaning of a word becomes more general in the course of
time

20. Which of the following minor types of semantic transfer consists in naming unpleasant
or offensive referents in a polite, conventional, indirect or round-about way?

a) irony

b) enantiosis

c) euphemism

d) overstatement

21. Find the word with the grammatical meaning of singularity (noun):
a) He works well.

b) His work is done well.

c) His works are known everywhere.

d) They work at a big plant.

22. Find the word with the grammatical meaning of plurality (noun):
a) All hisanswers were correct.

b) He answers well.

c) If you are not sure, don’t answer this questions.

d) Your answer is wrong.

23. Find the word in which the emotive charge is heavier:
a) large

b) big

c) tremendous

d) vast

24. Find the word which is colloquial in style:
a) parent

b) father

c) dad

d) ancestor

25. Find the word which is bookish in style:
a) darkness

b) harmony

c) foolish

d) glad

26. Find aslangism:
a) wife

b) sister

C) missus

d) mother

27. Find a professionalism:
a) a shop
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b) a lab
C) a store
d) a barn

28. Find a vulgarism:
a) bad

b) negative

c) awful

d) bloody

29. Find the word which is motivated morphologically:
a) father

b) singer

C) aunt

d) niece

30. Find the word which is completely motivated morphologically:
a) long

b) endless

c) big

d) large

31. Find a word with an inflection:
a) worker

b) darkness

c) books

d) rewrite

32. Find a word with a derivational affix:
a) night

b) heartless

c) Ivanov’s

d) papers

33. Find a word with two free morphemes:
a) unbearable

b) childhood

c) merry-go-round

d) first-nighter

34. Find a word with a bound root-morpheme:
a) suspicion

b) backward

c) brotherly

d) houses

35. Find a word formed with the help of a productive prefix:
a) amphitheatre

b) withdraw

c) unknown

d) forecast
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36. Find a word formed with the help of a non-productive prefix:
a) enrich

b) interpersonal

c) disagree

d) rewrite

37. Find a word with a productive Germanic prefix:
a) foretell

b) misspell

c) abnormal

d) co-educational

38. Find a word with a productive Romanic prefix:
a) afternoon

b) unpleasant

c) pre-teach

d) underestimate

39. Find a word with a Greek prefix:
a) post-school

b) anti-racist

c) extraordinary

d) overrun

40. Which of the words is built with a prefix denoting negation:
a) undo

b) counter-strike

c) illogical

d) decentralize

41. Which of the words has a prefix denoting repetition:
a) enlarge

b) befriend

C) repeat

d) retake

42. Which of the prefixes denotes time relations:
a) post-

b) un-

C) ir-

d) dis-

43. Find a noun built with the help of a lexicalized grammatical suffix:
a) emptiness

b) transition

c) acting

d) waitress

44. Which of the suffixes is used for the formation of nouns?
a) -ship

b) -ly

c) -ful
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d) -ize

45. Which of the suffixes is a verb-suffix:

a) -al

b) -en
c) -ed
d) -ion

46. Which of the suffixes is an adjective-suffix:

a) -or

b) -ous
C) -ness
d) -ment

47. Find a noun built
a) worker

b) scientist

c) Chinese

d) actress

48. Find a noun built
a) sharpener

b) islet

c) designer

d) farmerette

49. Find a noun built
a) peasantry

b) warmth

c) democracy

d) loneliness

50. Find a noun built
a) socialist

b) auntie

c) driver

d) villager

51. Find a noun built
a) writer

b) development

c) readership

d) kingdom

52. Find a noun built
a) materialism

b) educate

c) tiredness

d) interpretation

with the help of a suffix denoting a female being:

with the help of a suffix denoting diminutiveness:

with the help of a suffix denoting collectivity:

with the help of asuffix denoting the agent of a verbal action:

with the help of a suffix denoting the process of an action:

with the help of a suffix denoting state:

53. Which of the nouns is built with the help of a productive suffix:

a) victory

34



b) pianist
C) passage
d) boredom

54. Which of the nouns is built with the help of a non-productive suffix:
a) resistance

b) happiness

c) socialism

d) solution

55. Find an endocentric word-group:
a) white snow

b) to turn pale

c) side by side

d) day and night

56. Find an exocentric word-group:
a) heavy rain

b) to grow smaller

c) keen sight

d) great bravery

57. Find a phraseme:
a) red tape

b) small hours

c) heavy feathers

d) to get the sack

58. Find an idiom:
a) a mare’s nest
b) heavy rain

c) cold reason

d) to fall ill

59. Which of the dialects became the national language of Britain?
a) Lowland
b) Northern
c) Western
d) Midland

60. Which of the words is more frequently used in the USA than in Britain:
a) underground

b) subway

c) tube

d) metro

61. Lexicology is a branch of linguistics which deals with...

a) the various means of expressing grammatical relations between words and with the
patterns after which words are combined into word groups and sentences

b) the outer sound form of the word

c) lexical units and the vocabulary of alanguage
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d) the study of the nature, functions and structure of stylistic devices and with the
investigation of each style of the language

62.The largest two-facet lexical unit observed on the syntagmatic level of analysis is:
a) the word

b) the word-combination

c) the phrasal verb

d) the phraseological unit

63. A seme is:

a) the smallest element of the grammatical meaning
b) the root of a word

c) the smallest meaningful language unit

d) the smallest element of the lexical meaning

64. Affixation is:

a) a way of word-building consisting in adding an affix to the stem of a word
b) shortening of words

c) a way of word-building consisting in forming one part of speech from another
d) a way of word-building consisting in shifting the stress

65. A non-affixal type of word-building is:
a) composition

b) conversion

c) sound imitation

d) reduplication

66. The derivational stem (base) and derivational affix into which the derived word is
segmented are:

a) immediate meaningful constituents

b) ultimate constituents

c) lexical morphemes

d) grammatical morphemes

67. The meaning of a compound is derived from:

a) the structural meaning of its pattern

b) the lexical meaning of its immediate constituents

c) the lexical meanings of its immediate constituents and from the structural meaning of its
pattern

d) the lexical meaning of its ultimate constituents and from the structural meaning of its
pattern

68. Compounds may be coordinate and subordinate according to:
a) the order of their immediate constituents

b) the nature of their immediate constituents

c) the relations between their immediate constituents

d) the nature of the ultimate constituents

69. Verbalization is:

a) the formation of verbs from other parts of speech

b) the formation of adjectives from other parts of speech
c) the formation of nouns from other parts of speech
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d) the formation of adverbs from other parts of speech

70. Substantivation is:

a) the formation of verbs from other parts of speech

b) the formation of adjectives from other parts of speech
c) the formation of nouns from other parts of speech

d) the formation of adverbs from other parts of speech

71. Lexical abbreviation of words consists:
a) in adding a part of a word

b) in clipping a part of a word

c) in clipping a prefix

d) in adding a suffix

72. The term “polysemy” stands for:
a) the process of semantic development
b) the plurality of meanings

c) the connotation of the meaning

d) the transferred meaning of a word

73. The causes of semantic changes can be:
a) phonological

b) morphological

c) extra-linguistic

d) linguistic and extra-linguistic

74. A metaphor is a transfer of meaning on the basis of:
a) comparison

b) similarity

C) opposition

d) contiguity

75. Find an example of a full Briticism:
a) fortnight

b) country

c) ship

d) window

76. Find an example of a full Americanism:
a) drug-store

b) friendship

c) childhood

d) cinema

77. Find the word the spelling of which inthe USA differs from that in Britain:
a) standard

b) labor

c) national

d) language

78. Find a Latin loan-word:
a) a cup
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b) a wife
c) a window
d) a glass

79. Find a Greek loan-word:
a) fruit

b) scheme

c) capital

d) table

80. Find a Scandinavian loan-word:
a) to read

b) to write

c) to speak

d) to take

81. Find a French loan-word:
a) ox

b) meat

c) pig

d) sausage

82. Find a German loan-word:
a) rain

b) prize

C) game

d) nickel

83. Find an Italian loan-word:
a) article

b) balcony

C) question

d) fish

84. Find the word which is partially motivated morphologically:
a) cherry

b) apple

C) pear

d) cranberry

85. Find the word which is motivated phonetically:
a) hiss

b) pen

c) table

d) board

86. Find an example of a dead metaphor:
a) cold reason

b) cruel heat

c) the flower of her life

d) the hand of the watch
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87. Find an example of a personal metaphor:
a) She is like a snake in the grass.

b) He bought a head of cabbage.

c) The moon is riding in the sky.

d) The moon is like a silver coin.

88. Find an example of zoosemy:

a) Don’t you be a dog in the manger.
b) She is always as busy as a bee.

c) He is as strong as an elephant.

d) “Rise like lions after slumber”.

89. Find an example of metonymy:

a) He had only a few coppers in his pocket.
b) We got to the mouth of the river.

c) He was a lion in the fight.

d) The valley was silent.

90. Find the case of synecdoche:

a) Everything smiled at him.

b) All hands aboard!

c) the childhood of the earth.

d) The leg of the table was broken.

91. Find the example of the generalization of meaning:

a) She has always been a good wife to him.

b) Have you looked through the journals which were received yesterday?
c) We must write to the minister about it.

d) I don’t like her. Her manners are vulgar.

92. Find the example of the degradation of meaning:

a) The office was in the busiest part of London, in the City.

b) The hunter walked along the path, the hound running after him.
c) Our target is building civil society.

d) “Do you hear the villain?” groaned the tall young man.

93. Find a monosemantic word:
a) book

b) hydrogen

c) head

d) country

94. Find the case where diachronically we have not polysemantic words but homonyms:
a) table (crosn) — table (Tabmwuia)

b) pipe (Tpyba) — pipe (KypurenbHasi TpyOKa)

c) tube (Tpy6a) — tube (MeTpo)

d) ear (konoc) — ear (yxo)

95. Find a word with two bound affixational morphemes:

a) ruthless
b) kind-hearted
C) uneatable
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d) book-keeper

96. Find a monomorphic word:
a) mighty

b) reader

c) daughter

d) ashtray

97. Find a polymorphic (derived) word:
a) uncomfortable

b) lamp-shade

c) firewall

d) forget-me-not

98. Find a polymorphic (compound) word:
a) unquestionable

b) unpredictable

C) government

d) lady-killer

99. Which of the adjectives is built with the help of a suffix denoting the absence of the
quality?

a) girlish

b) understandable

c) careless

d) talkative

100. Find an adjective built with the help of a suffix denoting the presence of the quality
in a small degree:

a) thoughtful

b) penniless

c) childish

d) reddish

TecTbl MPOJABHHYTOr0 YPOBHsS OIleHMBalOTCS M3 pacueta 100 0assioB, KaKAblld MPaBUIbLHBIN
OTBeT oljeHuBaeTcs B 1 Gar.

[ITkasia COOTBETCTBUSI PEHTUHTOBBIX OLIEHOK MsATHOa/IIbHBIM orjeHKam: 100 — 81- «oTmuHOo» (5);
80 — 61 - «xoporio» (4); 60 — 41 - «ygoBneTBoputenbHO» (3); 40 — 21 - «HeyJ0B/I€TBOPUTEIBHO»
(2), 20— 0 - «HeOOXOAUMO TIOBTOPHOE U3yUeHHe».

Kputepuu onjeHkH Tecra (IpojBUHYTHIN YPOBEHb)

OrieHKa 1o 5-0a/TbHOM cHcTeMe Onenka o 100-6amibHo¥ | Banbel A1 aTTecTalydn
CUCTeMe
5 | oTMuHO 81-100 17-20
4 | xopoLio 61 —-380 13-16
3 | yAOB/IETBOPUTEBHO 41 - 60 9-12
2 | HeyJOBJIETBOPUTE/IbHO 21 -40 5-8
1 | Heobxomumo TIOBTOPHOE 0-20 0-4
v3yJyeHue
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['ocymapcTBeHHOe 06pa3oBaTe/ibHOe YUpeXk/ieHre BbICIiero o6pa3oBaHusl
MOCKOBCKNI I'OCYJAPCTBEHHBIN OBJIACTHOM YHUBEPCUTET
(MI"'OY)

WHCTUTYT MTMHIBUCTHUKY U MEXXKYJIbTYPHOW KOMMYHUKAL[UN
@aKy/ibTeT pOMaHO-TePMaHCKHX SA3bIKOB
Kadenpa Teopuu 1 MpakTUKKU aHTJIMHACKOTO SI3bIKa

Tect (BapuaHT 2)
o AUCHUILIMHE «/IeKCMKo/10rusa»

OueHuBaemMble KOMIIETEHIMHU:
OIIK-1, OIIK-3, OIIK-7, OIIK-13, OIIK-16, OIIK-17, [IK-27

YpoBensb: [1poBUHYThIN

1.Special lexicology is:

a) the lexicology of a particular language

b) the lexicology of any language

c) the study of vocabulary at a given stage of language development

d) the study of vocabulary changes and development in the course of time
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2. The word has:

a) only phonological aspects

b) only syntactic aspects

c) only semantic aspects

d) phonological, semantic and syntactic aspects

3. Two or more words identical in sound-form but different in meaning, distribution and
(in many cases) origin are:

a) antonyms

b) homonyms

C) paronyms

d) archaisms

4. Homophones are:

a) identical in spelling but different in sound-form
b) identical in sound-form but different in spelling
c) identical in spelling and sound-form

d) different in spelling and sound-form

5. When two or more homonyms can originate from different meanings of the same word,
when for some reason, the semantic structure of the word breaks into several parts, this
type of formation of homonyms is called:

a) borrowing

b) word-building

c) split of polysemy

d) composition

6. Word-formation:

a) deals with segmentation of words into morphemes

b) deals with segmentation of words into phonemes

c) is an autonomous language mechanism which is used to make new words

d) is a language mechanism which is used to create new meaning for the words already
existing in the language

7. The morphemes which may occur alone and coincide with word-forms or immutable
words are:

a) free lexical morphemes

b) bound lexical morphemes

c) bound grammatical morphemes

d) allomorphs

8. Which meaning of the word-combination is conveyed by the pattern of arrangement of
the component words:

a) structural

b) lexical

C) primary

d) secondary

9. Which of the phraseological units are completely non-motivated and usually stable:
a) phraseological unities

b) phraseological fusions

c) phraseological collocations
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d) terminological phraseologisms

10. Phraseological units are classified into noun, verb, adverb and adjective equivalents by
the criterion of:

a) non-variability of context

b) partial variability of context

c) function

d) idiomaticity

11. Find an example of a phraseological fusion:
a) to show one’s teeth

b) sunny smile

c) cold winter

d) heavy father

12. Find an example of a phraseological collocation:
a) to go to the cinema

b) to declare war

c) to get the sack

d) to beat about the bush

13. Find an example of a phraseological unity:
a) to know where the shoe pinches

b) to join the army

d) to speak well

d) to know everything

14. Find an adverbial phraseological unit:
a) ill at ease

b) red tape

c) by heart

d) to keep house

15. Find a verb phraseological unit:
a) for the sake of

b) Jack of all trades

c) golden opportunity

d) to cut short

16. Find the word which is obsolete in Britain but modern in the USA:
a) building (=house)

b) to pronounce (=to speak)

c) to ask (=to question)

d) fall (=autumn)

17. Find the American form of Participle II:
a) written

b) spoken

C) proven

d) taken

43



18. A wvariety of a language which prevails in a district, with

vocabulary, pronunciation and phrase is:
a) a dialect

b) an accent

c) a regional variant of standard language
d) standard language

19. British, America, Australian and Canadian English are:
a) different languages

b) accents

c) local dialects

d) regional variants

20. The science of dictionary-compiling is:
a) lexicology

b) lexicography

c) lexicon

d) lexical semantics

21. Find a Spanish loan-word:
a) institute

b) moment

c) cigar

d) telephone

22. Find a Russian loan-word:
a) sister

b) Kremlin

C) minute

d) sport

23. Find an Arabian loan-word:
a) philosophy

b) chess

C) tomato

d) algebra

24. Find a Turkish loan-word:
a) café

b) physics

c) coffee

d) massage

25. Find a Chinese loan-word:
a) lemon

b) glass

C) tea

d) savage

local peculiarities of

26. Which is the most frequent meaning of the polysemantic word “hand”?

a) factory or dockyard worker
b) the pointer of a watch
c) side or direction
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d) part of the human arm beyond the wrist

27. In which of the word-groups the lexical context is of primary importance to determine
the meaning of a polysemantic word:

a) heavy storm

b) to make a good teacher

c) to make everybody laugh

d) to get to the place

28. In which of the word-groups the grammatical context is of primary importance to
determine the meaning of a polysemantic word:

a) heavy artillery

b) to make somebody work

c) handsome reward

d) to take the train

29. Find an example of full lexical homonyms:
a) lead (Bectn) — lead (cBuHelr)

b) ball (Msu) — ball (6an)

c) rose (po3a) —rose (past tense from to rise)
d) flat (kBaptupa) — flat (r1ockuit)

30. Find an example of partial lexical antonyms:
a) match (cnnuka) — match (maTu)

b) seal (Ttonens) — seal (reuaTsb)

c) to lie (nexxatb) —to lie (nratp)

d) coarse (Tpy0ObIii) — course (Kypc)

31. Find an example of full lexico-grammatical homonyms:
a) club (n) —to club (v)

b) pail (n) — pale — (adj)

c) since (prep) — since (conj)

d) to lie (1iexxatn) —to lie (iraTh)

32. Find an example of partial lexico-grammatical homonyms:
a) for (prep)— for (conj)

b) sun (n)—son (n)

c) bow (nyk) —bow (TOK/IOH)

d) seal (TrosieHb) — seal (3areuaTaTh)

33. Find an example of root antonyms:
a) kind — cruel

b) important — unimportant

c) like — dislike

d) logical — illogical

34. Find an example of derivational antonyms:
a) love — hatred

b) beautiful — ugly

c) careful — careless

d) big — small
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35. Find a set of words not belonging to the same thematic group:
a) tree — grow — green

b) journey — train — ticket

c) sun — shine — brightly

d) apple —read — snow

36. Which of the words is divided into Ultimate Constituents:
a) un-touchable

b) un-break-able

c) un-mistakable

d) ir-resistible

37. Which of the word is divided into Immediate Constituents:
a) in-significant

b) in-attent-ive

c) un-doubt-ed-ly

d) pleas-ant-ly

38. Find a word with a pseudo-morpheme:
a) re-write
b) re-ceive
c) re-read
d) re-take

39. Find a word with a semi-affix:
a) well-behaved

b) long-winded

c) self-centred

d) undisputable

40. In which of the suffixated words a root-morpheme has transformed into an affixational
morpheme?

a) actress

b) friendship

C) question

d) childish

41. Find a compound in which the components reflect the semantic relations of purpose:
a) neck-tie

b) wrist-watch

c) bookshelf

d) snowball

42. Find a compound in which the components reflect the semantic relations of time:
a) motorboat

b) night-club

c) bathroom

d) man-servant

43. Find a derivational adjective-nominal compound:
a) gas-stove
b) red-nosed
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C) motorway
d) brick-layer

44. Find nominal-verbal compound:
a) proof-read

b) cross-question

c) fireman

d) writing-table

45. Find a verb-adverb compound:
a) a bookshelf

b) a double-check

c) a draw-back

d) a headmaster

46. Find a nominal compound:
a) colour-blind

b) telecast

c) pale-faced

d) bottle-neck

47. Find an example of a graphical abbreviation:
a) Mr. Brown’s office

b) V-Day

c) MP’s speech

d) NATO

48. Find a lexical abbreviation which is read as an ordinary word:
a) H-bomb

b) UNESCO

c) USA

d) BBC

49. Find an example of apocope:
a) curtsy

b) exam

c) flu

d) bus

50. Find an example of aphaeresis:
a) tec

b) taxi

c) plane

d) S.0.S.

51. Find an example of syncope:
a) specs

b) prof

c) lab

d) cycle

52. Find the word that has been clipped both at the beginning and at the end:
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a) phone
b) photo
c) fridge
d) smog

53. Find an example of a blend:
a) fence

b) zoo

c) U-boat

d) motel

54. Find an example of back-formation:
a) to read —read

b) to edit — editor

C) to instruct — instructor

d) to shake — shaker

55. Find a denominal verb denoting deprivation of the object:
a) a crowd —to crowd

b) a bone —to bone

C) an ape —to ape

d) a pocket —to pocket

56. Find a denominal verb denoting an action produced with the object (instrumental
relations):

a) a crowd — to crowd

b) a pump —to pump

c) a dress—to dress

d) a ferret —to ferret

57. Find a denominal verb denoting some action characteristic of the subject:
a) a hammer — to hammer

b) a doctor —to doctor

c) abag—to bag

d) a pile—to pile

58. Find a denominal verb denoting placing into the object (relations of place):
a) a head —to head

b) a bottle —to bottle

C) asaw —to saw

d) an elbow —to elbow

59. Find a denominal verb denoting addition of the object:
a) a monkey —to monkey

b) a queue —to queue

c) a back —to back

d) a fish —to fish

60. Find a deverbal substance denoting the agent of the action:
a) tocut—a cut

b) to tramp —a tramp

c) to smile—a smile
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d) to rush —rush

61. Find an example of a non-assimilated borrowing:
a) fellow

b) café

c) forest

d) meeting

62. Find an example of a completely assimilated borrowing:
a) hotel

b) restaurant

c) husband

d) machine

63. Find a loan-word not completely assimilated with the English language phonetically:
a) police

b) river

c) flower

d) wall

64. Find a loan-word not completely assimilated with the English language grammatically:
a) figure

b) army

¢) datum

d) cage

65. Find a Celtic loan-word:
a) dream

b) grass

c) cradle

d) road

66. The term “lexicology” is of:
a) Greek origin

b) Latin origin

c) French origin

d) Russian origin

67. The two main approaches to studying language material are:
a) special and descriptive

b) historical and comparative

c) synchronic and diachronic

d) contrastive and general

68. Lexico-semantic system is:

a) a combination of interdependent elements

b) a type of classification of English vocabulary
c) a combination of changing elements

d) a stock of borrowings

69. The basic word-stock includes:
a) nouns
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b) adjectives
c) different parts of speech
d) phraseological units

70. Archaisms are words which:

a) ousted some new words

b) are no longer used in everyday speech
c) are used to express new phenomena
d) are used with new meanings

71. A proper neologism is:

a) an old lexical unit for denoting a new object or phenomenon
b) a lexical unit existing in the language and changing its meaning
c) anew lexical unit that develops in the language

d) a new lexical unit for denoting a new object or phenomenon

72. Semantic borrowings are such units in which:

a) a new meaning for the unit existing in the language is borrowed
b) there is a word-for-word (morpheme-for-morpheme) translation

c) the spelling, pronunciation and meaning are borrowed

d) there is complete assimilation

73. A morpheme is:

a) the main unit of the lexical system

b) the smallest language unit which can stand alone as a complete utterance
c) the smallest meaningful language unit

d) a group of words which exists in the language as aready-made unit

74. General dictionaries deal with:
a) synonyms

b) antonyms

c) word-frequency

d) translation

75. Historic events, geographical names, names for diseases, plants, animals, institutions are
included in:

a) encyclopedic dictionaries

b) linguistic dictionaries

c) explanatory dictionaries

d) general dictionaries

76. Dictionaries may be general and restricted by:

a) the nature of their word-list

b) the number of languages in which the information is presented
c) the language in which the information is presented

d) the amount of information presented

77. The dictionaries containing units in one language and their equivalents in another are:
a) translation dictionaries

b) explanatory dictionaries

c) etymological dictionaries

d) specialized dictionaries
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78. The main types of semantic transfer are:
a) overstatement and understatement

b) metaphor and metonymy

c) irony and enantiosis

d) elevation and degradation

79. Metaphor is based on:

a) contiguity of referents

b) similarity of referents in shape, function, in position, in behaviour, etc.

c) the gradual process when a word passes from a general sphere to some special sphere of
communication

d) the gradual process when the meaning of a word becomes more general in the course of
time

80. Which of the following minor types of semantic transfer consists in naming unpleasant
or offensive referents in a polite, conventional, indirect or round-about way?

a) irony

b) enantiosis

c) euphemism

d) overstatement

81. Find the word with the grammatical meaning of singularity (noun):
a) He works well.

b) His work is done well.

c) His works are known everywhere.

d) They work at a big plant.

82. Find the word with the grammatical meaning of plurality (noun):
a) All his answers were correct.

b) He answers well.

c) If you are not sure, don’t answer this questions.

d) Your answer is wrong.

83. Find the word in which the emotive charge is heavier:
a) large

b) big

c) tremendous

d) vast

84. Find the word which is colloquial in style:
a) parent

b) father

c) dad

d) ancestor

85. Find the word which is bookish in style:
a) darkness

b) harmony

c) foolish

d) glad
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86. Find a slangism:
a) wife

b) sister

C) missus

d) mother

87. Find a professionalism:
a) a shop

b) a lab

C) a store

d) a barn

88. Find a vulgarism:
a) bad

b) negative

c) awful

d) bloody

89. Find the word which is motivated morphologically:
a) father

b) singer

C) aunt

d) niece

90. Find the word which is completely motivated morphologically:
a) long

b) endless

c) big

d) large

91. Find a word with an inflection:
a) worker

b) darkness

c) books

d) rewrite

92. Find a word with a derivational affix:
a) night

b) heartless

c) Ivanov’s

d) papers

93. Find a word with two free morphemes:
a) unbearable

b) childhood

c) merry-go-round

d) first-nighter

94. Find a word with a bound root-morpheme:
a) suspicion
b) backward
c) brotherly
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d) houses

95. Find a word formed with the help of a productive prefix:

a) amphitheatre
b) withdraw

c) unknown

d) forecast

96. Find a word formed with the help of a non-productive prefix:

a) enrich

b) interpersonal
c) disagree

d) rewrite

97. Find a word with a productive Germanic prefix:

a) foretell

b) misspell

c) abnormal

d) co-educational

98. Find a word with a productive Romanic prefix:

a) afternoon

b) unpleasant

c) pre-teach

d) underestimate

99. Find a word with a Greek prefix:

a) post-school
b) anti-racist

c) extraordinary
d) overrun

100. Which of the words is built with a prefix denoting negation:

a) undo

b) counter-strike
c) illogical

d) decentralize

TecTbl MPOJABHHYTOI0 YPOBHA OIleHMBArOTCI M3 pacueta 100 6asioB, KaXKAbIH TPaBUILHBIN

OTBeT oljeHuBaeTcs B 1 Gar.

[ITkasia COOTBETCTBUSI PEUTUHTOBBIX OLIEHOK MsATHOa/IbHBIM orjeHKam: 100 — 81- «oTmuHO» (5);
80 — 61 - «xoporo» (4); 60 — 41 - «ygoBneTBoputenbHO» (3); 40 — 21 - «HeyJ0B/I€TBOPUTETBHO»
(2), 20 — 0 - «HEOOXOAUMO TIOBTOPHOE U3yUeHHe».

KpuTepuu oneHku Tecra (IpojBUHYThHIN YPOBEHb)

OueHKa 110 5-6a/TbHOM cucTeMe

Onenka 1o 100-6anibHOM
crucreme

Banne! ayis arrecraumun

5 | oTMuHO 81-100 17-20
4 | xopoLio 61 —-380 13-16
3 | yAOB/IETBOPUTEBHO 41 - 60 9-12
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2 | HeyJ0BIETBOPUTE/IbHO 21 -40 5-8

1 | Heobxomumo TIOBTOPHOE 0-20 0-4
H3yueHue

4. MeTtoanuecKde MaTepHa/ibl, ONpeAe/sOIHe MNPOIeAyPbl OIeHUBAaHHS
pe3y/IbTaToB 0CBOEHHs 00pa30BaTe/IbHOM MPOrPaMMBbI

V3yueHne AUCHUAIUIMHBI «JIEKCUKOJIOTHS» TpeAyCMaTpUBaeT CjaeAyiome (HopMbI
TeKYILlero KOHTPOJISi U MPOMEXXYTOYHOM aTTeCcTal[iu: 5K3ameH (7 cemecTp)

JK3aMeH COCTOMT U3 [IBYX YaCTel: YCTHOU TeOpeTUYeCcKOH (CTYJeHT JeMOHCTPUPYeT
3HaHMEe TeOPeTMYEeCKOro Marepuasja MO JUCLUIUIMHE) W TPaKTUYeCKOM YacTu
(CTyZleHT [eMOHCTpUpYeT BjaZieHue TIpueMaMM aHaju3a SI3bIKOBBIX eJIUHMI).

I'ocymapcTBeHHOe 0Opa3oBaTebHOE YUPEXK/JeHHe BBICIIIEro 00pa30BaHus
MOCKOBCKNI I'OCYJAPCTBEHHBIN OBJIACTHOM YHUBEPCUTET
(MI'OY)

WHCTUTYT TMHIBUCTHUKY U MEXKKYJIbTYPHOW KOMMYHUKAL[UN
@aKy/ibTeT pOMaHO-TePMaHCKHX SA3bIKOB
Kadenapa Teopyu 1 NpakKTUKKU aHTJIMHACKOTO SI3bIKa

IlepeyeHb NpUMepPHBIX TeM pedepaToB MO JUCIUIUIUHE «JIeKcuKoIorus»

OnenuBaembie KoMmnereHruu: OIIK-1, OIIK-3, OIIK-7, OIIK-13, OIIK-16. OIIK-
17
Ypogenn: [Toporossiii / [TpoaBUHYThIM

1. CroBoC/iOKeHHe: 3aKOHOMEPHOCTH COUYeTaeMOCTM OCHOB B CJIOBOCJ/IOXKEHUU;
2. AGOpeBualyist B COBPEMEHHOM aHTJIUHCKOM SI3bIKE;

3. AKpOHVMMBI B COBPEMEHHOM aHTJIMWCKOM SI3BIKE;

4. KoHBepcuss Kak Croco0 Cc/0BoOOpa30oBaHUSI B COBPEMEHHOM aHIJIMHACKOM
SI3bIKE;

5. [lonsiTie acCUMMISIIMM 3aMCTBOBAaHMM U MeTOAMKAa ee MCCJie/loBaHusI;
6. [lepyBallMOHHBIN MOTeHIMaN 3aMMCTBOBAHHBIX CJIOB;
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7. Ocob0eHHOCTH BJUSTHUSI aMepPUKAHCKOTO0 BapuaHTa aHTJIMMCKOTO si3blKa Ha
OpHuTaHCKUH;

8. AwmepuKaHCKMe 3alMCTBOBaHUs BO ()pa3eoyioruv OpPUTAHCKOTO BapWaHTa
AHTJIMMCKOTO SI3bIKQ;

9. CemaHTHUeCKass CTPYKTypa HEOJIOTH3MOB-CYII[eCTBUTE/LHBIX B OpPUTAaHCKOM U
aMepHUKaHCKOM BapuaHTaxX aHTJIMUCKOTO S3bIKa;

10. Jlekcuko-rpammartrueckas AuddepeHLranyis pa3roBOPHOU peur aMepUKaHCKOro
1 OpYUTaHCKOT0 BapUAHTOB aHTIMMCKOTO SI3bIKa;

11. Posib 300HMMOB M arpoHMMOB B (OPMMPOBAHMM aBCTPAJMKCKOr0 BapHaHTa
AQHTJIMMCKOTO 3bIKA,

12. CneHr Kak Cpe/iCTBO BbIPa’KeHUsI TIPUCTPACTUH COBPEMEHHOU MOJIOZeXMU;

13. ®dpazeonornyeckasi CMHOHUMHS B COBDEMEHHOM aHTJIMMCKOM SI3bIKE;

14. dpazeosniornyeckass aHTOHUMUS B COBPEMEHHOM AaHTJIMUCKOM S3bIKE;
15.0cobenHocTy  (pazeosjorud B aMEpPUKAHCKOM M OpPHUTAaHCKOM BapHaHTaX
aHTJIMMCKOTO SI3bIKQ;

16. CMHXPOHHO-COINOCTaBUTE/bHBIM aHa/INW3 MTOC/IOBUL] U TIOTOBOPOK B aHIVIMKCKOM,
PYCCKOM, HEMELIKOM 1 KUTalCKOM $I3bIKaX B Ky/JIbTyPOJIOTUUECKOM acCIieKTe;
17.AHrnuiickve (pa3eosorusmel, Ccojep)kaliye B CBOEU CeMaHTUKe 3JIeMeHT
1[BeT00003HaueHus1, U 0COOEHHOCTH UX TMepeBo/ja Ha PYCCKUM SI3bIK;

18. ®pazeosiornueckre eqUHUIILI OMOENICKOTO TIPOUCXOXKAeHUsT (Ha MaTepuasie
aHTJIMHCKOTO U PYCCKOTO SI3bIKOB);

19. ®dpazeosiornueckre TMpO3BHIlA U HUX MeCTO B aHIVIMKCKOH (pa3eosioruuy;
20. KynbTypHO-HaLlMOHaMbHas crieljuduka ¢ppa3eosoruueckux euHuLL;

21. OcobeHHOCTH COBPEMEHHOT'0 CJIeHra aHTTIMACKOTO S3bIKa;

22. OcobeHHOCTH COBPEMEHHOT'0 CJIeHra aMepHUKaHCKOTO S13bIKa;

23. Ocob6eHHOCTH COBPEMEHHOT'0 C/IeHra KaHaZICKOTO S13bIKa;

24. OcobeHHOCTH COBPEMEHHOT'0 CJIEHTa aBCTPAIMCKOTO S3bIKa;

25. Adopur3mbl B COBpEMEHHOM aHTJIUWCKOM $3bIKE;

26. ABTOpCKUe rpeoOpa3oBaHUs (pa3eosioTHUeCKUX eAVHUL] U UX CTUIMCTUYECKOe
VCITI0J/Ib30BaHue (OKKa3HuOHAaJM3Mbl);

27. MexzaomMeTHas (ppa3eosiorysi aHIJIMUCKOTO S13bIKa;

28. AHrMlCcKue 3aMMCTBOBAHUS B PYCCKOM SI3bIKE;

29.JIMHrBUCTUUYECKWE U3MEHEHNs B COBPEMEHHOM aHIJIMKCKOM Si3bIKe (He0J/IOTU3MBbI);
30. OcHoBHBIE TIPOGIEMBI CO3/IaHHS 37EKTPOHHBLIX CIOBapew;

31. IlparmaTrueckue acreKTbl W3yUYeHUs] aHTJIMUCKOM VIHTepHeT-/IeKCUKY;

32. Tengeniu B 00pa30BaHWM CJAEHTU3MOB M KOJIJIOKBUATH3MOB;

33. CuHoHuMUs1 adhOpU3MOB U TIOCJOBUL] B aHIJIMMCKOM SI3bIKE;

34. CreHr Kak OTpakKeHHWe KYJIbTYPHBIX OCOOEHHOCTel OTAe/NbHOM S3bIKOBOM
TPYIIIIbI;

35. CoOUMOJIMHIBUCTUYECKHE aCIeKThl 3JIEKTPOHHOU peyH.

PedepaT — KpaTkas 3anvch Wjiel, CoJeprKaliuxcs B OJHOM WA HECKOJbKUX
MCTOYHHKAX, KoTopasi TpeOyeT yMeHHsI COTOCTAaB/IsITh M aHaIM3UPOBaTh pa3/MuHbie
TOUKW 3peHusi. PedepaT mnpexcraBsiseT coboii ofHy U3 (GOpM HHTeprpeTaruu
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HNCXOOHOIro TeKCTad W/IKM HeCKOJIbBKMX WCTOYHHKOB, II03TOMY pecbepaT, B OoT/IMUHEe OT
KOHCIIEKTd, SBJ/IA€TCA HOBBIM, dBTOPCKHMM TEKCTOM. HoBu3Ha B AdHHOM (CJ/Iy4ae
noApasymMeBdeT HOBO€ M3/I0KeHHE, CUCTEMATHU3dLIKMIO MdTepKdJld, OCO6y1-O dBTOPCKYIO
Mo3nuuvo ITIp¥U COIOCTABJIEHHWKM PAd3/IMUHBIX TOYEK 3pEHUH. PE(bepI/IpOBaHI/Ie
npeariojiaraeT M3/10KeEHHe KaKoro-amoo BOIIpOCa HA4 OCHOBE KJ'IaCCI/Iq)I/IKaI_[I/II/I,
O606U.[€HI/IH, dHd/IM3d ¥ CMHTEe3ad OJHOI'0 NJIM HECKOJIbBKMX MCTOUYHHKOB.

TpeOoBaHKs K HaNMMCaHHIO pedepara:

O6bem pedepata — 10 — 12 cTp. meuatHoro TekcTa. PedepaT momkeH
coflep>kaTh: 000CHOBaHHe BbIOOpa TEMbI; YKa3aHUs Ha MpeaMeT, 00beKT u3ydaeMoi
TeMbI; 11eJib paboThl M 3a/lauM; W3/0’KeHHWe MaTrepuasa, PacKpbIBaloIero lieflb U
3a[jauu; BBIBO/IbI; JIUTEPATYPa.

Pedepat oneHuBaeTcsi, HCXOAA U3 CIeYIOINX KPUTEPHEB:

Kpurepun

TTokazatenu

bannwl

1.HoBusHa
pedeprpoBaHHOTO
TEKCTa

- aKTyaJIbHOCTb MPO0JIeMbl U
TEMBI;

- HOBM3HA U CAMOCTOSITEJTbHOCTh B
TIOCTaHOBKe TIP00JIeMbl, B

(b opMyIMpOBaHUH HOBOTO
acrieKTa BbIOpaHHOM /1S aHa/IM3a
Tpo0OJIeMBI;

- HaJTMUMe aBTOPCKOU TIO3ULIHH,
CAMOCTOSITEJTBHOCTh CY>K/IeHUH.

20% MakcuMaIbHO

3 bayuta
MaKCHUMaJIbHO

2. CteneHb
PacKpbITUSI
CYII[HOCTH

Ipo0OJIeEMBI

- COOTBETCTBHE TI/IaHa TeMe
pedeparTa;

- COOTBETCTBHE CO/IepKaHUsI TeMe
Y ruiaHy pecdepara;

- TIOJTHOTA ¥ TJTyOWHA PacKpBITHS
OCHOBHBIX TIOHSITHI TTPO0JIEMBI;

- 000CHOBaHHOCTH CII0COO0B 1
METOZIOB PabOThI C MaTepUaoMm;

- yMeHHe paboTaTb ¢
JIUTEPATypPOM, CUCTEMaTU3UPOBATh
Y CTPYKTYpUPOBATh MaTepHuar;

- yMeHue 000011jaTh,
COTIOCTAaBJISITh Pa3/IMYHbIE TOUKU
3peHust TI0 paCCMaTPHUBAeMOMY
BOITIPOCY, apryMeHTHUPOBATh
OCHOBHBbIE T10JI0’KEHUSI U BBIBOZBI.

20% MakCcUMa/JILHO

3 ba/uta
MaKCUMAaJIbHO

3. O60CHOBaHHOCTb
BbIOOpa NCTOYHUKOB

- KpyT, TIOJTHOTA UCIIO/Ib30BaHMUsI
JIUTEPATYPHBIX HCTOYHHUKOB TI0
nipobsieme;

- TIpUBJIeYeHHe HOBEHIINX paboT
110 TIpo6JieMe (>KypHa/IbHbIe
y0/IMKaIM, MaTepHaJIbl
COOPHUKOB HayUHBIX TPYAOB U

T.J.).

20% MakCcUMa/JILHO

3 ba/uta
MaKCUMAaJIbHO

4. CobsroieHue

- paBWIbHOEe 0hopM/ieHHe

20% MakCUMaJbLHO

3 bayuta
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TpeboBaHUH K
o opMJIeHHIO

CCBIIOK Ha WCTIO/b3yeMYTO
JIUTEpaTypy;

- TPaMOTHOCTh | KYJIbTypa
W3/I0KEHUST;

- B/IaJleHre TePMUHOJIOTHEN U
TIOHSITUHHBIM arrapaToM
nipo0IeMbl;

- cobstroieHre TpeboBaHuH K
o0beMy pedepaTa;

- Ky/IbTypa 0(hOpMJIeHHSI:
BbI/leieHre ab3alieB.

MaKCHMaJ/IbBHO

5. I'paMOTHOCTB

- OTCyTCTBHe opdorpaduueckux u
CUHTAKCUYeCKHX OILINOOK,
CTUTMCTUYECKUX TTOTPELTHOCTelH;
- OTCYTCTBHE OIeYaToK,
COKpallleHU CJIOB, Kpome
OOLeNPUHSATHIX;

- HAYYHbIH CTWIb W3J/I0’KEHHUs.

20% MakcuMaIbHO

3 bayuta
MaKCHUMAaJIbHO

I'ocymapcTBeHHOE 0Opa3oBaTebHOE YUpeXK/JeHHe BBICIIIero 00pa3oBaHus
MOCKOBCKHUUM FOCY,Z[APCTBEHHBIPT OBJIACTHOI YHUBEPCUTET

I/IHCTI/ITYT JIMHI'BUCTHUKU 1 ME)KKYHBTYPHOﬁ KOMMYHHKaIIUH

(MI'OY)

(DaKYJ'[bTET POMAHO-T€PMdHCKHUX A3bIKOB

Kadenpa Teopyu 1 pakTUKKU aHTJIMHACKOTO SI3bIKa

IlepeyeHb NpUMepHBIX BONMPOCOB K 3K3aMeHy M0 AUCLUIIMHE
«JIekcukoJ/iorUaA»

OHEHI/IBHEMBIE KOMIIeTeHIIUH:
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OIIK-1; OITK-3; OITK-7; OITK-13; OIIK-16; OITK-17
Ypogensn: [Toporossii / [IpogBUHYTHIM

1. Lexicology as a branch of linguistics. Types of lexicology. The connection of
lexicology with other branches of linguistics.

2. Language units.

3. The word and its properties.

4. Theproblemoflinguisticmeaning. Types of linguistic meaning.

5. Aspects of lexical meaning.

6. Theproblemofsynonymy. Classification of synonyms.

7. Antonymy. Types of antonyms.

8. Polysemyandhomonymy. The structure of a polysemantic word.

9. Classificationofhomonyms. Sources of homonymy.

10. Developmentoflexicalmeaning. Causes and types of semantic changes.

11. Metaphor and metonymy as mechanism of creating new meaning.

12. Secondary ways of semantic changes: elevation, degradation, hyperbole, litotes.
13. The etymological composition of the English lexicon. Native and borrowed
words in English. Characteristics of native words.

14. Borrowingsandtheirclassifications. Linguistic and extra-linguistic —causes of
borrowings. The source language and the language of origin.

15. French borrowings.

16. German and Scandinavian borrowings.

17. Latin, Italian and Spanish borrowings.

18. Etymological doublets, international words, false friends of the interpreter.

19. Morphemicstructureoftheword. Types of morphemes. Allomorphs.

20. Morphemic level of analysis of word structure. The IC and the UC analysis.
21. Primary and secondary ways of word formation.

22. Affixation.

23. Conversion.

24. Compounding.

25. Criteria of identifying a compound. Nominative binominals.

26. Secondary ways of word formation: shortening, acronymy, back formation,
blending, sound interchange, sound imitation, stress interchange.

27. Phraseological units: the definition and characteristic features. Classifications of
phraseological units.

28. Semantic classification of phraseological units.

29. Structural classification of phraseological units.

30. Syntactical classification of phraseological units.

31. Archaic words and neologisms.

32. VariantvsDialect. MainvariantsofModernEnglish. English in different parts of the
world.

33. American English vs British English: differences in the vocabulary, grammar
and pronunciation.

34. Lexicography. The main types of dictionaries.
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ITpuMepsbI 3ajaHNH [I/IS MPAKTUYeCKOM YacTH ’K3aMeHa

Ne 1.

Analyze the underlined items.

1. I must resist those who punish me unjustly.

2. He upped and awayedto London.

3. By the way, that young John Forsyte is over here... boy-and-girl affair, but I
thought you ought to know.

4. 1 was miserable when I thought you would not come. I am almost too happy
now.

5. At school I always found algebra a very hard nut to crack.

Ne 2.

Analyze the underlined items.

1. He was penniless, but in due course found enough work as a teacher ofGreek to

keep body and soul together.

2. Mabel began to find out what a mean old rogue he is.

3. What I mean is that he strikes me as a man who has gone to the bottom of
things.

4. Soames wanted to alter his condition from that of an unmarried man to that of
the married man remarried.

5._Undoubtedlyphilosophers are right when they tell us that nothing is great or
little.

Ne 3.

Analyze the underlined items.

1. Frisco upped and clouted him over the jaw.

2. At the offices on Lower Broadway, he asked to see the manager, whom he
found to be a large, gross-featured, heavy-bodied man of fifty, grey-haired,
grey-eyed with short, fat-fingered hands.

He was always eager to welcome and unwilling to lose his friends.

“For Christ sake, keep your passage clear”, had been his exact words. He
wasn’t going to kick the bucket before his time and go straight to Hell.

5. Here they found tea laid out for them.

W

KpuTepuu o1ieHKH 0TBETOB CTY/IeHTOB Ha JK3aMeHe

Ouenka XapakTepHucTHUKA KosnuecTrBo
0a/10B
OT/INYHO OTMeTKa «0T/IMYHO» BbICTABJ/ISICTCS, €C/IU CTY/IeHT: 81- 12-15
*  00Hapy>KMBaeT T/Ty00KOe MOHUMaHHe TEOPETUUECKUX BompocoB | 100
Y [PaKTUUeCKOro BOMPOCa;
® yMeeT BH/ETb MEX[UCLMIUIMHAPHbIE CBSI3U IpEeJMETOB,
TIPOM/IEHHBIX B Ipoliecce oOyueHusi B OakajiaBpHaTe;
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®  BjazieeT OCHOBHOM TEPMUHOJIOTMUECKOM 0a30if;

®  yMeeT JIOTMYHO BLICTPOUTH CBOM OTBET;

® Y3/1araeT CyTb BOMPOCOB I'PaMOTHO C TOUKU 3peHMs S3bIKOBOM
HOPMBbI U MeTasi3bIKa HayKy,

® yMeeT BeCTU M0JIEMUKY C 5K3aMeHaTOpaMH, OTCTauBasi CBOe
MHeHHe TI0 AUCKYCCUOHHOM TeMe.

X0pOo1LI0 OLieHKa «X0po1I0» CTaBUTCS, €C/IA CTY/IeHT: 61-80 | 8-11
®  (oOHapy’KvBaeT JIOCTaTOUHO ry0oKoe TIOHMaHHe
TeOpPeTUUeCKUX BOIMPOCOB W TPAaKTWYECKOro BOIPOCa, HO
3aTpy/HSIeTCs B TIPUBEJEHNH TPYMEPOB;
® yMeeT BH/EeTb MEX[UCLMIUIMHAPHbIE CBSI3U IpEeJMEeTOB,
TIPOIIeHHBIX B Ipoliecce oOyueHus: B OakasiaBpHaTe;
® B IIeJIOM B/aZieeT TEPMUHOJIOTMUECKON 0a3oi, HO [OMyCKaeT
OT/ie/TbHbIe HETOUHOCTH;
®  HeJI0CTaTOYHO YeTKO CTPYKTYPUPYeT OTBET;
®  u3/1araeT CyTb BOIPOCOB JJOCTATOYHO I'PAMOTHO C TOUKU 3pPEHHsT
S3BIKOBOI HOPMBI M MeTasi3bIKa HayKu (He Oosiee 2-3 OImMO0K);
® B I1|e/IOM MpaBWIbHO OTBEUaeT Ha BOIMPOCHI, HO He OYeHb
YCIIeIHO BeZleT IMOJIEMUKY C 3K3amMeHaTopaMH, OTCTauBast
CBOe MHEHUe 10 JUCKYCCUOHHOMW TeMe.
[ ]
yaoBaeTBo | OLjeHKa «y/J0B/IETBOPUTE/ILHO» CTaBUTCS, €C/IU CTY/IeHT: 41-60 | 4-7
pUTEe/IbLHO ® TI0KasblBaeT [IOHMMaHue TeOpPeTUUeCKUX BOIPOCOB U
MPAaKTUUeCKOro BOMpPOCA, HO pAacKpbIBaeT Marepuasn
HETI0JIHO, 3aTPYZAHSeTCs NPUBOAWUTE NIPUMEpBbI;
® He BCerJia BUJUT MeXIUCLIIIJIMHAPHbIE CBSI3U TpPe/IMETOB,
TIPOM/IEHHBIX B TIpoLiecce 00yueHust B OakanaBpuaTe;
® JIONyCKaeT HeTOUHOCTU B OTpe/ie/IeHUH TTOHSTUI;
® y3jaraeT MaTepuas HeYeTKO U Heroc/e/0BaTe/bHO;
® IOMyCKaeT OIIMOKM C TOUKHU 3PeHHs SI3bIKOBOW HOPMBI U
MeTasi3blka Hayku (Oonee 4-5 ommbOOK B TOM uHC/e
BeJyL[MX K UCKa’)KeHHIO0 CMbIC/Ia BbICKA3bIBaHUS);
® JCOBITHIBAeT Cepbe3Hble 3aTPyAHEHUs IIpU OTBeTe Ha
BOIPOCHI 5K3aMeHaTopa.
HeyjoBsieT | OlleHKa «HeyAOBJ/1eTBOPUTE/IbHO» CTaBUTCS, €C/IA CTYZeHT: 0-40 0-3
BOPUTE/IbH ® /IeMOHCTPUDPYET pa3po3HeHHble HeccrcTeMHbIe 3HAHUS;
(] JIOTTyCKaeT rpyOble OLIMOKY B OTIpe/ie/IeHUH TIOHSITH;

L]

® u3jaraeT MaTepras HeyBePeHHO U HeueTKo;

® JOTyCKaeT rpyOble W/WIM MHOTOUMC/IeHHbIe OIIMOKU B
YCTHOM  peud, BeAylMe K MCKaXeHWI0 CMbIC/A
BbICKa3bIBaHWSI;

® He MOXeT OTBEeTUTb MpPAaKTUUeCKU HU Ha OJUH BOIPOC
5K3aMeHaTopa.
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